
tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

	

ijh{k.k iqfLrdk

lkekU; vè;;u

(vDVwcj eSx”khu tk¡p ijh{kk)
fnukad& 11-10-2020

le; % nks ?k.Vs	 iw.kk±d % 200

vuqns'k
	 1-	 ijh{kk izkjEHk gksus ds rqjUr ckn] vki bl ijh{k.k iqfLrdk dh iM+rky vo'; dj ysa fd blesa dksbZ fcuk 

Nik] iQVk ;k NwVk gqvk i`"B vFkok iz'u vkfn u gksA ;fn ,slk gks rks bls lgh ijh{k.k iqfLrdk ls cny 
yhft;sA

	 2-	 mÙkj&i=kd esa lgh LFkku ij ijh{k.k iqfLrdk vuqØe A, B, C ;k D ;FkkfLFkfr Li"V :i ls dwVc¼ dhft;sA 

	 3-	 bl iafDr ds lkFk esa fn;s x, dks"Bd esa vkidks viuk 
vuqØekad fy[kuk gSA ijh{k.k iqfLrdk ij vkSj oqQN u 
fy[ksaA

	 4-	 bl ijh{k.k iqfLrdk esa 100 iz'uka'k (iz'u) fn;s x, gSaA izR;sd iz'uka'k fganh vkSj vaxzs”kh eas Nik gSA izR;sd iz'uka'k 
esa pkj izR;qÙkj (mÙkj) fn;s x, gSaA buesa ls ,d izR;qÙkj dks pqu ysa] ftls vki mÙkj&i=kd ij vafdr djuk pkgrs 
gSaA ;fn vkidks ,slk yxs fd ,d ls vfèkd izR;qÙkj lgh gSa rks ml izR;qÙkj dks vafdr djsa tks vkidks loksZÙke yxsA 
izR;sd iz'uka'k ds fy;s dsoy ,d gh izR;qÙkj pquuk gSA

	 5-	 vkidks vius lHkh izR;qÙkj vyx ls fn;s x, mÙkj&i=kd ij gh vafdr djus gSaA mÙkj&i=kd esa fn;s x, funsZ'k 	
ns[k ysaA

	 6-	 lHkh iz'uksa ds vad leku gSaA

	 7-	 blls igys fd vki ijh{k.k iqfLrdk ds fofHkUu iz'uka'kksa ds izR;qÙkj mÙkj&i=kd ij vafdr djuk 'kq: djsa] vkidks 
izos'k izek.k&i=k ds lkFk izsf"kr vuqns'kksa ds vuqlkj dqN fooj.k mÙkj&i=kd esa nsus gSaA 

	 8-	 vki vius lHkh izR;qÙkjksa dks mÙkj&i=kd esa Hkjus ds ckn rFkk ijh{kk ds lekiu ij dsoy mÙkj&i=kd vèkh{kd dks 
lkSai nsaA vkidks vius lkFk ijh{k.k iqfLrdk ys tkus dh vuqefr gSA

	 9-	 dPps dke ds fy;s dqN i=kd ijh{k.k iqfLrdk ds var esa layXu gSaA

	 10-	 xyr mÙkjksa ds fy;s naM%
		  oLrqfu"B iz'u&i=kksa esa mEehnokj }kjk fn;s x, xyr mÙkjksa ds fy;s naM fn;k tk,xkA
	 (i)	 izR;sd iz'u ds fy;s pkj oSdfYid mÙkj gSaA mEehnokj }kjk izR;sd iz'u ds fy;s fn;s x, ,d xyr mÙkj ds fy;s 

iz'u gsrq fu;r fd;s x, vadksa dk ,d&frgkbZ n.M ds :i esa dkVk tk,xkA
	 (ii)	 ;fn dksbZ mEehnokj ,d ls vfèkd mÙkj nsrk gS] rks bls xyr mÙkj ekuk tk,xk] pkgs fn;s x, mÙkjksa esa ls ,d mÙkj 

lgh gks] ml iz'u ds fy;s mi;qZDrkuqlkj gh naM fn;k tk,xkA
	(iii)	 ;fn mEehnokj }kjk dksbZ iz'u gy ugha fd;k tkrk gS vFkkZr~ mEehnokj }kjk mÙkj ugha fn;k tkrk gS] rks ml iz'u ds 

fy;s dksbZ n.M ugha fn;k tk,xkA

tc rd vkidks ;g ijh{k.k iqfLrdk [kksyus dks u dgk tk, rc rd u [kksysa

djsaV vQs;lZ VqMs
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	 1.	 ^jk"Vªh; f'k{kk uhfr&2020* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 twu 2017 esa bl f'k{kk uhfr ds fuekZ.k gsrq iwoZ 
bljks izeq[k MkW- ds- dLrwjhjaxu dh vè;{krk esa 
,d lfefr dk xBu fd;k x;kA

	 2.	 ;g f'k{kk uhfr Lora=k Hkkjr dh pkSFkh f'k{kk uhfr 
gSA

	 3-	 bl f'k{kk uhfr esa orZeku 10 + 2 esa lfØ; 'kSf{kd 
ekWMy ds LFkku ij 'kSf{kd ikB~;Øe dks 5 + 3 + 
3 + 4 iz.kkyh ds vk/kj ij foHkkftr fd;k x;k 
gSA

	 4.	 bl uhfr ds rgr ekuo lalk/u fodkl ea=kky; 
dk uke cnydj ^f'k{kk ea=kky;* fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 4	 (d)	 dsoy 1 vkSj 3

	 2.	 ^ck?k lax.kuk&2018* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 o"kZ 2006–2018 ds chp Hkkjr esa ck?kksa dh la[;k 
esa izfro"kZ 6% dh o`f¼ gqbZ gSA

	 2.	 if'peh ?kkV nqfu;k dk lcls cM+k lrr~ ck?k vkcknh 
okyk {ks=k gSA

	 3-	 oSf'od ck?kksa dh vkcknh dk yxHkx 70% Hkkjr 
esa gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 3.	 ^varjkZ"Vªh; ck?k fnol* fuEufyf[kr esa ls fdl frfFk dks 
euk;k tkrk gS\

	 (a)	 29 tqykbZ	 (b)	10 vxLr

	 (c)	 22 flracj	 (d)	 5 vDVwcj

	 4.	 ^oSf'od cgqvk;keh xjhch lwpdkad* 2020 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 cgqvk;keh xjhch ls lacaf/r vè;;u dk 'kh"kZd 
^pkfV±x ikFkos vkmV vkWiQ eYVhMkbesa'kuy ikoVhZ% 
vph,foax n ,lMhth* gSA

	 2.	 bl lwpdkad dks ^la;qDr jk"Vª fodkl dk;ZØe* 
rFkk ^vkWDliQksMZ ikWoVhZ ,aM áweu MsoyiesaV 
buhf'k,fVo* }kjk tkjh fd;k x;k gSA

	 3-	 ;g lwpdkad izR;sd nks o"kZ esa O;fDrxr vkSj 
lkewfgd :i ls xjhc yksxksa ds thou dh tfVyrkvksa 
dh eki djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 1.	 Consider the following statements in the context of  
'National Education Policy -2020':

	 1.	 In June 2017, a committee was formed under 
the chairmanship of former ISRO chief Dr. K 
Kasturirangan to formulate this education 
policy.

	 2.		 This education policy is the fourth education 
policy of independent India.

	 3.	 In this education policy, the educational 
curriculum has been divided on the basis of 5 
+ 3 + 3 + 4 system in place of current 
educational model of 10 + 2.

	 4.	 The Ministry of Human Resource Development 
has been renamed as 'Ministry of Education' 
under this policy.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 4 only	 (d)	 1 and 3 only
	 2.	 Consider the following statements in the context of  

'Tiger Census-2018’ :
	 1.	 Between 2006-2018 the number of tigers in 

India has increased by 6% per year.
	 2.	 The Western Ghats is the largest sustainable 

tiger populated area  in the world. 
	 3.	  About 70% of the global tiger population are 

in India.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 3.	 ‘International Tiger Day’  is observed on which of the 

following day? 
	 (a)	 29 July	 (b)	 10 August
	 (c)	 22 September	 (d)	 5 October
	 4.	  With reference to the 'Global Multidimensional 

Poverty Index' 2020, Consider the following 
statements:

	 1.	 The study related to Multidimensional Poverty 
is titled as 'Charting Pathway Out of 
Multidimensional Poverty: Achieving the 
SDG'.

	 2.	 This index has been released by the ‘United 
Nations Development Program’ and the 
‘Oxford Poverty and Human Development 
Initiative’.

	 3.	 This index measures the complexities of the 
lives of poor people, individually and 
collectively,in every two years.

		  Which of the statement(s) given above is/are not  
correct?

	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 5.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fujis{k xjhch ds fu/kZj.k gsrq ^ykWjsat oØ fof/* 

rFkk ^fxuh xq.kkad fof/* dk iz;ksx fd;k tkrk gSA

	 2.	 o"kZ 2017 esa uhfr vk;ksx us xjhch nwj djus gsrq 
,d fo”ku MkWD;wesaV izLrkfor fd;k Fkk] ftlds 
vuqlkj Hkkjr esa o"kZ 2032 rd xjhch nwj djus dk 
y{; fu/kZfjr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1,  u gh 2

	 6.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 U;kf;d voekuuk vf/fu;e] 1971 dh /kjk 2(C) 

ds varxZr U;k;ky; ls tqM+h fdlh ,slh ckr ds 
izdk'ku ls] tks fyf[kr] ekSf[kd] fpfÉr] fpf=kr 
;k fdlh vU; rjhds ls U;k;ky; dh voekuuk 
djrh gks] ^flfoy voekuuk* dgykrh gSA

	 2.	 U;kf;d voekuuk vf/fu;e] 1971 dh /kjk 2 
(B) ds varxZr U;k;ky; ds fdlh fu.kZ;] fMØh] 
vkns'k] fjV vFkok vU; fdlh izfØ;k dh 
tku&cw>dj dh xbZ voKk ;k mYya?ku U;k;ky; 
dh ^vkijkf/d voekuuk* dgykrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 7.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 vuqPNsn 142(2) voekuuk ds vkjksi esa fdlh Hkh 

O;fDr dh tk¡p rFkk mls nafMr djus gsrq loksZPp 
U;k;ky; dks l{ke cukrk gSA

	 2.	 vuqPNsn 215 izR;sd jkT; ds mPp U;k;ky; dks 
vfHkys[k U;k;ky; ds :i esa Lohdkj djrk gS vkSj 
mPp U;k;ky;ksa dks Lo;a dh voekuuk gsrq nafMr 
djus esa l{ke cukrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 8.	 gky gh esa fnYyh ljdkj }kjk ^bysfDVªd okgu uhfr] 
2020* dks vf/lwfpr fd;k x;k gSA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g uhfr ekStwnk vkWVks fjD'kk rFkk bZ&vkWVks ,oa 
bZ&clksa ds lkFk jkT; }kjk lapkfyr clksa ds 
izfrLFkkiu dks c<+kok nsrh gSA

	 2.	 ;g uhfr jkt/kuh fnYyh esa [kjhns x, bysfDVªd 
okguksa dks lfClMh] jksM VSDl rFkk iathdj.k 'kqYd 
ls NwV iznku djrh gSA

	 3-	 bl uhfr dk mn~ns'; ok;q iznw"k.k dks de djuk 
rFkk ekax esa rhoz o`f¼ djds vFkZO;oLFkk dks xfr 
iznku djuk gSA

	 5.	 Consider the following statements:
	 1.	 The ‘Lorenz curve method’ and the ‘Gini 

coefficient method’ are used to determine 
absolute poverty.

	 2.	 In 2017, the NITI Aayog proposed a vision 
document for poverty alleviation, according 
to which the goal of poverty alleviation has 
been set in India by 2032.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 6.	 Consider the following statements:
	 1.	 Under Section-2 (C) of the Judicial Contempt 

Act, 1971, publication of anything connected 
with the court which is written, oral, marked, 
painted or in any other way which contempt 
the court is called ‘Civil contempt’.

	 2.	 Under Section 2 (B) of the Judicial Contempt 
Act, 1971, deliberate disobedience or violation 
of any decision, decree, order, writ or any other 
process of a court is called ‘Criminal contempt’ 
of court.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 7.	 Consider the following statements:
	 1.	 Article 142 (2) enables the Suprezme Court to 

investigate and punish any person charged with 
contempt.

	 2.	 Article 215 accepts the High Court of each 
State as the Court of Records and enables the 
High Courts to punish for their own contempt.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 8.	 Recently ‘Electric Vehicles Policy, 2020’ has been 

notified by Delhi Government. In this context, 
consider the following statements:

	 1.	 This policy promotes the replacement of 
existing auto rickshaws and state-run buses 
with e-autos and e-buses.

	 2.	 This policy exempts electric vehicles 
purchased in the capital Delhi from subsidies, 
road tax and registration fees.

	 3.	 The objective of this policy is to reduce air 
pollution and give a boost to the economy by 
increasing the demand.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 9.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
		  lfefr@vk;ksx		 fliQkfj'ksa

	 1.	 izFke iz'kklfud lq/kj	 %	 jkT;iky ds in ij 
vk;k sx fdlh ,sl s 
O;fDr dks fu;qDr 
fd;k tkuk pkfg;s] tks 
fdlh ny fo'ks"k ls 
lacaf/r gksA

	 2.	 jkteUukj lfefr	 %	 Hkkjrh; lafo/ku ls 	
	vuqPN sn 356 vk Sj 	
	359 dk foyksiuA

	 3-	 ljdkfj;k vk;ksx	 %	 jkT;iky dk in ,d 
Lora=k laoS/kfud in	
gS] jkT;iky u rks dsanz 
ljdkj ds vèkhuLFk gS 
vkSj u mldk dk;kZy; 
dsanz dk dk;kZy; gSA

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr ugha gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 10.	 jkT;iky dh lafo/ku iznÙk foosdk/hu 'kfDr;ksa ds lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jkT; esa jk"Vªifr 'kklu dh fliQkfj'k djukA

	 2.	 jk"Vªifr ds fopkjkFkZ fdlh fo/s;d dks vkjf{kr 
djukA

	 3-	 eq[;ea=kh dh fu;qfDr ,oa inP;qfrA

	 4.	 jkT; ds fo/kuifj"kn ,oa iz'kklfud ekeyksa esa 
eq[;ea=kh ls tkudkjh izkIr djukA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1vkSj 3	 (b)	dsoy 2 vkSj 4

	 (c)	 dsoy 1] 2 vkSj 4	 (d)	 1, 2, 3 vkSj 4

	 11.	 ^ou us'ku&ou jk'ku dkMZ ;kstuk* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bl ;kstuk dks o"kZ 2019 esa jk'ku dkMks± dh 
varj&jkT;h; iksVsZfcfyVh lqfo/k ds rgr 'kq: fd;k 
x;k FkkA

	 2.	 gky gh esa bl ;kstuk esa fe”kksje] ukxkySaM] fgekpy 
izns'k jkT;ksa ,oa tEew&d'ehj dsanz'kkflr izns'k dks 
'kkfey fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 9.	 Consider the following pairs:
		  Committee/Commission	 Recommendations
	 1.	 First Administrative	 :	A person who belongs 
		  Reforms Commission		 to a particular party 

should be appointed 
to the post of Governor.

	 2.	 Rajamannar Committee	:	Deletion of Articles 
356 and 359 from   
Indian Constitution.

	 3.	 Sarkaria Commission	 :	The post of Governor 
is an independent 
constitutional post, 
the Governor is neither 
subordinate to the 
Central Government 
nor his office is the 
office of the Centre.

		  Which of the above pair(s) is/are not correctly 
matched? 

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 10.	 Consider the following statements in the context of  

constitutional discretionary powers conferred to the 
Governor:

	 1.	 To recommend President's rule in the state. 
	 2.	 To reserve a bill for the consideration of the 

President. 
	 3.	 Appointment and removal of Chief Minister.
	 4.	 To get information from the Chief Minister in 

the legislative council and administrative 
matters of the state. 

		  Which of the statements given above are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 4 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4
	 11.	 Consider the following statements in the context of 

'One Nation - One Ration Card Scheme':
	 1.	 The scheme was launched in the year 2019 

under the inter-state portability facility of 
ration cards.

	 2.	 Recently the states of Mizoram, Nagaland, 
Himachal Pradesh and the Union Territory of 
Jammu and Kashmir were included in this 
scheme.

		  Which of the statement(s) given above is/are not  
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 12.	 ^fo'o&O;kikj laxBu* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g ,dek=k oSf'od varjkZ"Vªh; laxBu gS] tks jk"Vªksa 
ds eè; O;kikj&fu;eksa ls lacaf/r gSA

	 2.	 bl laxBu esa 166 lnL; (;wjksih; la?k lfgr) 
,oa 25 i;Zos{kd ns'k gSaA

	 3-	 ;g laxBu la;qDr jk"Vª dh ,d fo'ks"k ,tsalh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 13.	 ^ny&cny fojks/h dkuwu* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl dkuwu dks lafo/ku dh nloha vuqlwph ds 
varxZr 52oas lafo/ku la'kks/u vf/fu;e] 1985 }kjk 
var%LFkkfir fd;k x;k FkkA

	 2.	 dkuwu ds vuqlkj ;fn dksbZ funZyh; lnL; fdlh 
Hkh lnu dk lnL; fuokZfpr gksrk gS vkSj pquko 
ds ckn og fdlh Hkh jktuhfrd ny dh lnL;rk 
xzg.k djrk gS rks og lnL;rk gsrq fujgZ ekuk 
tk,xkA

	 3-	 dkuwu ds vuqlkj ;fn dksbZ lnL; euksuhr gksdj 
lnu dh lnL;rk xzg.k djrk gS vkSj euksu;u ds 
Ng ekg i'pkr~ fdlh ny dh lnL;rk xzg.k djrk 
gS rks og fujgZ ekuk tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 14.	 gky gh esa Hkkjr dh ̂ ldy ?kjsyw mRikn* (thMhih) o`f¼ 
nj esa fxjkoV ntZ dh xbZ gSA thMhih esa fxjkoV ls 
Í.k&thMhih vuqikr ds de&ls&de 4% rd c<+us dh 
laHkkouk gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 Í.k&thMhih vuqikr fdlh Hkh ns'k ds ldy ?kjsyw 
mRikn ds lkFk Í.k dk vuqikr gksrk gSA

	 2.	 Í.k&thMhih vuqikr dk mi;ksx fdlh ns'k dh 
Í.k pqdkus dh {kerk dk vkdyu djus gsrq fd;k 
tkrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 15.	 ^jktdks"kh; ?kkVk* ds lanHkZ esa fuEufyf[kr dFkuksa esa ls 
dkSu&lk@ls lgh gS@gSa\

	 1.	 ljdkj dh dqy vk; vkSj mlds O;; ds varj 
dks jktdks"kh; ?kkVk dgk tkrk gSA

	 2.	 jktdks"kh; ?kkVk jktLo esa deh ;k iwathxr O;; 
esa vR;f/d o`f¼ ds dkj.k gksrk gSA 

	 12.	 Consider the following statements in the context of  
'World-Trade Organization':

	 1.	 It is the only global international organization 
dealing with trade rules between nations.

	 2.	 The organization has 166 members (including 
European Union) and 25 observer countries. 

	 3.	 This organization is a specialized agency of 
the United Nations.

		  Which of the statement(s) given above is/are correct? 
	 (a)	 1 only	 (b)	 1 and 2 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 13.	 Consider the following statements in the context of  
'Anti-defection Law':

	 1.	 This law was instituted by the 52nd Constitution 
Amendment Act, 1985 under the Tenth 
Schedule to the Constitution.

	 2.	 According to the law, if an independent 
member is elected as a member of any House 
and after the election he / she takes membership 
of any political party, then he / she will be 
considered disqualified for membership.

	 3.	 According to the law, if a member is nominated 
to any House and after six months of 
nomination he / she takes membership of any 
political party, he / she will be considered as 
disqualified.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 14.	 Recently India's 'Gross Domestic Product' (GDP) 
growth rate has declined. The decline in GDP is 
expected to increase the debt-GDP ratio to at least 
4%. In this context, consider the following statements:

	 1.	 Debt-GDP ratio is the ratio of debt to GDP of 
any country.

	 2.	 Debt-GDP ratio is used to assess the country's 
ability to repay debt.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 15.	 Which of the following statement(s) is/are correct in 
the context of  'Fiscal Deficit'?

	 1.	 The difference between the government's total 
income and its expenditure is called fiscal 
deficit.

	 2.	 Fiscal deficit is caused by a decrease in revenue 
or excessive increase in capital expenditure.
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	 3-	 jktdks"kh; ?kkVs dh HkjikbZ ns'k ds dsanzh; cSad 
(Hkkjr esa fj”koZ cSad) ls m/kj ysdj ;k ckW.M 
tkjh djds iaQM tqVkdj dh tkrh gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 16.	 ^iz/kuea=kh Lofuf/ ;kstuk* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g ;kstuk twu 2019 esa 'kq: dh xbZ FkhA

	 2.	 bl ;kstuk dk mn~ns'; 'kgjh] v¼Z&'kgjh vkSj 
xzkeh.k {ks=kksa ds 50 yk[k LVªhV osaMjksa dks Í.k dh 
lqfo/k nsuk gSA

	 3-	 bl ;kstuk dks vkokl vkSj 'kgjh ekeyksa ds ea=kky; 
}kjk vkRefuHkZj Hkkjr vfHk;ku ds rgr 'kq: fd;k 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 17.	 fuEufyf[kr esa ls fdl jkT; dsaæ'kkflr izns'k ds eq[;ea=kh 
us ns'kO;kih ykWdMkmu ls izHkkfor Jfedksa vkSj O;kikfj;ksa 
dks jkgr nsus ds mn~ns'; ls ^jks”kxkj ck”kkj* uke ls ,d 
tkWc iksVZy ykWUp fd;k gS\

	 (a)	 egkjk"Vª	 (b)	gfj;k.kk

	 (c)	 fnYyh	 (d)	 jktLFkku

	 18.	 dq'keSu ,aM osdiQhYM }kjk tkjh ̂ oSf'od fofuekZ.k tksf[ke 
lwpdkad&2020* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl lwpdkad esa 48 ns'kksa (oSf'od fofuekZ.k gsrq 
lcls mi;qDr LFkkuksa) dh lwph esa Hkkjr rhljs 
LFkku ij gSA

	 2.	 bl lwpdkad esa ;wjksi] vesfjdk] vizQhdk vkSj 
,f'k;k&iz'kkar {ks=k ds 50 ns'kksa dks 'kkfey fd;k 
x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 19.	 fuEufyf[kr esa ls fdl jkT; esa dsanzh; Ñf"k ,oa fdlku 
dY;k.k ea=kh }kjk ^jk"Vªh; e/qeD[kh cksMZ* ds lg;ksx ls 
jk"Vªh; Ms;jh fodkl cksMZ }kjk LFkkfir Hkkjr dh fo'o 
Lrjh; vR;k/qfud 'kgn ijh{k.k iz;ksx'kkyk dk ohfM;ks 
dkWUizsaQl ds ekè;e ls 'kqHkkjaHk fd;k x;k\

	 (a)	 t;iqj (jktLFkku)	 (b)	vgenkckn (xqtjkr)

	 (c)	 vkuan (xqtjkr)	 (d)	 bankSj (eè; izns'k )

	 3.	 Fiscal deficit is compensated by borrowing 
from the country's central bank (RBI in India) 
or raising funds by issuing bonds.

		  Code:
	 (a)	 1 only	 (b)	 1 and 2 only

	 (c)	 1, 2 and 3	 (d)	 2 and 3 only

	 16.	 Consider the following statements in the context of  
'Pradhan Mantri Swanidhi Yojana':

	 1.	 The scheme was launched in June 2019.

	 2.	 The objective of the scheme is to provide loan 
facility to 50 lakh street vendors in urban, 
semi-urban and rural areas.

	 3.	 The scheme has been launched by the Ministry 
of Housing and Urban Affairs under the 
‘Atmanirbhar India campaign’.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 1 and 3 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 17.	 The Chief Minister of which of the following state 
has launched a job portal named 'Rozgar Bazaar' with 
an aim to provide relief to the workers and 
businessmen affected by the nationwide lockdown in 
their state/union territory?

	 (a)	 Maharashtra	 (b)	 Haryana

	 (c)	 Delhi	 (d)	 Rajasthan

	 18.	 Consider the following statements in the context of  
'Global Manufacturing Risk Index -2020' released by 
Cushman & Wakefield:

	 1.	 India ranks third in the list of 48 countries 
(most suitable places for global manufacturing) 
in this index.

	 2.	 This index includes 50 countries from Europe, 
America, Africa and the Asia-Pacific region.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 19.	 In which of the following states, the world-class 
state-of-the-art honey testing laboratory established 
by the National Dairy Development Board was 
launched by the Union Minister of Agriculture and 
Farmers Welfare in collaboration with the 'National 
Bee Board' through a video conference?

	 (a)	 Jaipur, (Rajasthan)

	 (b)	 Ahmedabad (Gujarat)

	 (c)	 Anand (Gujarat)
	 (d)	 Indore (Madhya Pradesh)
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	 20.	 gky gh esa iz/kuea=kh ujsanz eksnh us ^ty thou fe'ku* ds 

mn~ns'; dks è;ku esa j[krs gq, ohfM;ks dkWUizsaQflax ds ekè;e 

ls fuEufyf[kr fdl jkT; ds fy;s ,d tykiwfrZ ifj;kstuk 

dh vk/kjf'kyk j[kh gS\

	 (a)	 ef.kiqj	 (b)	vle

	 (c)	 v#.kkpy izns'k	 (d)	 f=kiqjk

	 21.	 fuEufyf[kr esa ls fdl v'osr Hkkjrh; vesfjdh efgyk 

dks vesfjdh jk"Vªifr pquko esa mijk"Vªifr in dk mEehnokj 

ukfer fd;k x;k gS\

	 (a)	 es?kk jkt	 (b)	deyk gSfjl

	 (c)	 vuhrk HkkfV;k	 (d)	 y{eh iqjh

	 22.	 la;qDr vjc vehjkr ds ^ckjkdkg ijek.kq mQtkZ la;a=k* ds 

lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g vjc txr~ dk igyk ijek.kq mQtkZ la;a=k gSA

	 2.	 ;g ijek.kq la;a=k vcw /kch ds vy /iQjk {ks=k esa 

fLFkr gSA

	 3-	 bl ijek.kq mQtkZ la;a=k dh dqy {kerk 5600 
esxkokV gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 23.	 ^,f'k;kbZ fodkl cSad* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 bl cSad dh LFkkiuk 19 fnlacj] 1966 dks gqbZ FkhA

	 2.	 bl cSad dk eq[;ky; euhyk] fiQyhihal esa gSA

	 3-	 orZeku esa bl cSad ds 68 lnL; gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 24.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 lw;Z dh lrg ;k mlds vkl&ikl gksus okyh 

izfØ;kvksa ls lkSj ekSle vkSj okrkoj.k fu/kZfjr 

gksrk gSA

	 2.	 varfj{k ds ekSle dks le>us ds fy;s lkSj ?kVukvksa 

dk Kku gksuk egÙoiw.kZ gSA

	 3-	 Hkkjr ds vkfnR; L-1 fe'ku ds varxZr varfj{k 

vk/kfjr os/'kkyk esa lw;Z ds dksjksuk] lkSj mRltZu] 

lksyj Ýys;lZ rFkk dksjksuy ekl btsD'ku dk 

vè;;u fd;k tk,xkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1, 2 vkSj 3	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1

	 20.	 Recently Prime Minister Narendra Modi has laid the 
foundation of a water supply project for which of the 
following states through video conferencing keeping 
in mind the purpose of 'Jal Jeevan Mission'?

	 (a)	 Manipur	 (b)	 Assam
	 (c)	 Arunachal Pradesh	 (d)	 Tripura
	 21.	 Which of the following black Indian American 

women has been nominated as the Vice Presidential 
candidate in the US presidential election?

	 (a)	 Megha Raj	 (b)	 Kamala Harris
	 (c)	 Anita Bhatia	 (d)	 Lakshmi Puri
	 22.	 With reference to the United Arab Emirates 'Barakah 

Nuclear Power Plant' Consider the following 
statements :

	 1.	 It is the first nuclear power plant in the Arab 
world. 

	 2.	 This nuclear plant is located in the Al Dhafra 
region of Abu Dhabi.

	 3.	 The total capacity of this nuclear power plant 
is 5600 MW.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 23.	 Consider the following statements in the context of  

'Asian Development Bank':
	 1.	 This bank was established on December 19, 

1966. 
	 2.	 The bank is headquartered in Manila, 

Philippines. 
	 3.	 The bank currently has 68 members.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only
	 (b)	 3 only
	 (c)	 1, 2 and 3
	 (d)	 2 and 3 only
	 24.	 Consider the following statements:
	 1.	 Solar weather and atmosphere are determined 

by processes occurring on or around the 
surface of the Sun.

	 2.	 To understand the weather of space it is 
important to have knowledge of solar 
phenomena.

	 3.	 The corona, solar emission, solar flares and 
coronal mass ejections will be studied at the 
space-based observatory under India's Aditya 
L-1 mission. 

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1 only
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	 25.	 Hkkjr ekSle foKku foHkkx ds lanHkZ esa fuEufyf[kr dFkuksa 

ij fopkj dhft;s%

	 1.	 bldh LFkkiuk o"kZ 1875 esa dh xbZ FkhA

	 2.	 ;g Hkkjr ljdkj ds i`Foh foKku ea=kky; dh ,d 

,tsalh gSA

	 3-	 ;g ekSle laca/h tkudkfj;k¡] ekSle iwokZuqeku rFkk 

Hkwdaih; foKku ls lacaf/r izeq[k ,tsalh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 26.	 ^dasnzh; Hkkjrh; Hkk"kk laLFkku* ds lanHkZ esa fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk o"kZ 1970 esa dh xbZ FkhA

	 2.	 ;g laLFkku ekuo lalk/u fodkl ea=kky; dk ,d 

v/huLFk dk;kZy; gSA

	 3-	 ;g laLFkku eSlwj esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 27.	 ^VªkbisQM* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk xBu o"kZ 1987 esa tutkrh; dk;Z ea=kky; 

ds rÙoko/ku esa jk"Vªh; uksMy ,tsalh ds :i eas 

fd;k x;k FkkA

	 2.	 bls cgq&jkT; lgdkjh lfefr vf/fu;e] 1984 ds 

rgr iathÑr fd;k x;k FkkA

	 3-	 gky gh esa 6 vxLr] 2020 dks blus viuk 33ok¡ 
LFkkiuk fnol euk;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 28.	 ^PURA igy* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 bl igy dks iwoZ jk"Vªifr MkW- vCnqy dyke }kjk 

tuojh 2007 esa 'kq: fd;k x;kA

	 2.	 bl igy dks rhoz ,oa l'kDr xzkeh.k fodkl ds 

fy;s izkjaHk fd;k x;k FkkA

	 3-	 blss xzkeh.k fodkl ea=kky; }kjk ik¡p o"kks± dh 

vof/ ds fy;s vkB lewgksa esa ik;yV vk/kj ij 

ykxw fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1 vkSj 3 	 (b)	dsoy 1

	 (c)	 dsoy 1 vkSj 2a	 (d)	 1, 2 vkSj 3

	 25.	 Consider the following statements in the context of  
‘Meteorological Department of India’ :

	 1.	 It was founded in the year 1875. 
	 2.	 It is an agency of the Ministry of Earth 

Sciences, Government of India.
	 3.	 It is the premier agency related to meteorological 

information, weather forecasting and 
seismology.

		  Which of the statement(s) given above is/are correct?
	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 3 only	 (d)	 2 and 3 only
	 26.	 Consider the following statements in the context of  

'Central Institute of Indian Languages'.
	 1.	 It was established in the year 1970. 
	 2.	 This institute is a subordinate office of the 

Ministry of Human Resource Development.
	 3.	 The institute is located in Mysore. 

Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 27.	 Consider the following statements in the context of  

'TRIFED':
	 1.	 It was constituted in the year 1987 as a National 

Nodal Agency under the aegis of Ministry of 
Tribal Affairs.

	 2.	 It was registered under the Multi-State 
Cooperative Societies Act, 1984.

	 3.	 Recently it celebrated its 33rd Foundation Day 
on 6 August 2020.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
	 28.	 With reference to the 'PURA initiative' Consider the 

following statements :
	 1.	 This initiative was launched in January 2007 

by former President Dr. Abdul Kalam.
	 2.	 This initiative was started for rapid and 

vigorous rural development.
	 3.	 It was implemented by the Ministry of Rural 

Development on a pilot basis in eight groups 
for a period of five years.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 and 3 only	 (b)	 1  only
	 (c)	 1 and 2 only	 (d)	 1, 2 and 3
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	 29.	 fuEufyf[kr esa ls fdl jkT; ds ^Ldwy f'k{kk foHkkx* 	
}kjk ?kj ij gh f'k{kk miyC/ djkus ds mn~ns'; ls ^gekjk 
?kj] gekjk fo|ky; dk;ZØe* 'kq: fd;k x;k gS] ftldk 
mn~ns'; dksfoM&19 egkekjh ds pyrs fo|ky;ksa ds can 
gksus ds dkj.k 22 yk[k Nk=kksa rd bldh igq¡p lqfuf'pr 
djuk gS\

	 (a)	 jktLFkku	 (b)	egkjk"Vª

	 (c)	 mÙkj izns'k 	 (d)	 eè; izns'k

	 30.	 gky gh esa dsanzh; Ñf"k ,oa fdlku dY;k.k ea=kky; us 
jk"Vªh; lgdkjh fodkl fuxe dh ,d ubZ igy ^lgdkj 
dwiV~;wc ,ulhMhlh pSuy* dh 'kq#vkr dh gSA bl lanHkZ 
esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bldk mn~ns'; fdlkuksa vkSj ;qokvksa dks lgdkjh 
lfefr;ksa dk ykHk mBkus ds fy;s izksRlkfgr djuk 
gSA

	 2.	 ;w&V~;wc IysViQkWeZ ij bl pSuy dh 'kq#vkr eè; 
izns'k] jktLFkku] vka/z izns'k] dukZVd] fe”kksje] 
vle] fgekpy izns'k jkT;ksa esa dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 31.	 ^jk"Vªh; lgdkjh fodkl fuxe* ds lanHkZ esa fuEufyf[kr 
dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 bldh LFkkiuk o"kZ 1963 esa laln ds ,d vfèkfu;e 
}kjk dh xbZ FkhA

	 2.	 ;g lgdkjh {ks=k gsrq 'kh"kZ foÙkh; rFkk fodklkRed 
laLFkku ds :i esa dk;Zjr~ ,dek=k lkafof/d laxBu 
gSA

	 3-	 ;g Ñf"k ,oa lac¼ {ks=kksa ds vykok fofHkUu {ks=kksa 
esa lgdkfjrk dks lg;ksx iznku djrk gSA

	 	dwV%

	 (a)	 dsoy 1	 (b)	1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 32.	 gky gh esa fuEufyf[kr esa ls fdl jkT; ds jkT;iky us 
jkT; dh rhu jkt/kfu;ksa ls lacaf/r ;kstuk dks ea”kwjh nh 
gS\

	 (a)	 egkjk"Vª	 (b)	rsyaxkuk

	 (c)	 vka/z izns'k	 (d)	 dukZVd

	 33.	 gky gh esa fuEufyf[kr esa ls fdl vkbZ-,-,l- vf/dkjh 
dks iz/kuea=kh dk futh lfpo fu;qDr fd;k x;k gS\

	 (a)	 jktho Vksiuks	

	 (b)	 gkfnZd lrh'k panz 'kkg

	 (c)	 vjfoan lDlsuk	

	 (d)	 Jherh lqtkrk esgrk

	 29.	 Which of the following state's 'School Education 
Department' has started a teaching program 'Hamara 
Ghar, Hamara Vidyalaya Program' for the purpose of 
providing education at home, with the aim to ensure 
access to this program to 22 lakh students in the wake 
of closing schools due to Covid-19 epidemic?

	 (a)	 Rajasthan	 (b)	 Maharashtra

	 (c)	 Uttar Pradesh	 (d)	 Madhya Pradesh

	 30.	 Recently the Union Ministry of Agriculture and 
Farmers Welfare has launched a new initiative 
'Sahakar CoopTube NCDC Channel' by National 
Cooperative Development Corporation. In this 
context, consider the following statements:

	 1.	 Its purpose is to encourage farmers and youth 
to take advantage of cooperatives.

	 2.	 The channel has been launched on YouTube 
platform in the states of Madhya Pradesh, 
Rajasthan, Andhra Pradesh, Karnataka, 
Mizoram, Assam, Himachal Pradesh.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 31.	 Which of the following statement(s) is / are correct 
in the context of  'National Cooperative Development 
Corporation'?

	 1.	 It was established in the year 1963 by an Act 
of Parliament.

	 2.	 It is the only statutory organization functioning 
as apex financial and developmental institution 
for the cooperative sector.

	 3.	 It supports cooperatives in various fields 
besides agriculture and allied sectors.

		  Code:
	 (a)	 1 only	 (b)	 1, 2 and 3

	 (c)	 1 and 3 only	 (d)	 2 and 3 only

	 32.	 Recently the Governor of which of the following 
states has approved the scheme related to the three 
state capitals?

	 (a)	 Maharashtra	 (b)	 Telangana

	 (c)	 Andhra Pradesh	 (d)	 Karnataka

	 33.	 Recently, which of the following IAS officer has been 
appointed as Personal Secretary to the Prime 
Minister?

	 (a)	 Rajiv Topno

	 (b)	 Hardik Satish Chandra Shah

	 (c)	 Arvind Saxena

	 (d)	 Mrs. Sujata Mehta
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	 34.	 gky gh esa jk"Vªifr jkeukFk dksfoan }kjk fuEufyf[kr esa ls 
fdls Hkkjr dk fu;a=kd ,oa egkys[kk ijh{kd fu;qDr fd;k 
x;k gS\

	 (a)	 jktho egf"kZ	 (b)	Vh-lh-,- vuar

	 (c)	 fxjh'k panz eqewZ	 (d)	 dyjkt feJ

	 35.	 ^oLrq ,oa lsok dj (th,lVh)* ds lanHkZ eas fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g dj 15 tqykbZ] 2016 dks ykxw gqvk FkkA

	 2.	 ;g ,d vizR;{k dj gS] ftls Hkkjr dks ,dhÑr 
lk>k ck”kkj cukus gsrq ykxw fd;k x;k gSA

	 3-	 ;g dj fuekZrk ls ysdj miHkksDrkvksa rd oLrqvksa 
,oa lsokvksa dh vkiwfrZ ij yxus okyk ,dy dj 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 2 vkSj 3	 (b)	dsoy 1

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 36.	 gky gh esa 27 lnL;h; ;wjksih; la?k us lnL; ns'kksa dh 
vFkZO;oLFkk ij COVID-19 ds udkjkRed izHkkoksa dk 
lkeuk djus gsrq ,d ,sfrgkfld le>kSrs ij lgefr O;Dr 
dh gSA bl le>kSrs ds izko/kuksa ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 le>kSrs eas vxys lkr o"kks± esa ;wjksih; la?k gsrq 1.1 
fVªfy;u ;wjks ds ctV dk izko/ku gSA

	 2.	 blesa Covid–19 egkekjh ls lokZf/d izHkkfor ns'kksa 
gsrq de C;kt okys 360 fcfy;u ;wjks ds Í.k 
forj.k dk izko/ku gSA

	 3-	 bleas lokZf/d izHkkfor vFkZO;oLFkkvksa dks 390 
fcfy;u ;wjks ds vuqnku dk izko/ku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3	 (b)	1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 37.	 gky gh esa Hkkjrh; iz/kuea=kh }kjk fuEufyf[kr esa ls fdl 
ns'k eas loksZPp U;k;ky; Hkou dk mn~?kkVu fd;k x;k] 
tks fd Hkkjr ds ̂ fo'ks"k vkfFkZd iSdst* ds rgr dk;kZfUor 
ik¡p ifj;kstukvksa esa ls ,d gS\

	 (a)	 cfyZu (teZuh)	 (b)	isfjl (izQk¡l)

	 (c)	 iksVZ yqbl (ekWjh'kl)	 (d)	 eSfMªM (Lisu)

	 38.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 iQkWjoMZ daVkfeus'ku dk rkRi;Z varfj{k esa fofHkUu 

[kxksy&fiaMksa ij ekStwn ,sls thok.kqvksa ds i`Foh ij 
vkus ls gS] tks vHkh rd i`Foh ds tSoeaMy esa 
ekStwn ugha gSaA

	 2.	 cSd daVkfeus'ku dk vFkZ i`Foh ij ik, tkus okys 
thok.kqvksa ds fdlh vU; [kxksy&fiaM ij igq¡pus 
ls gksrk gSA

	 34.	 Recently, who among the following has been 
appointed as Comptroller and Auditor General of 
India by President Ramnath Kovind?

	 (a)	 Rajiv Maharishi
	 (b)	 T.C.A. Anant
	 (c)	 Girish Chandra Murmu
	 (d)	 Kalraj Mishra
	 35.	 Consider the following statements in the context of  

'Goods and Services Tax (GST)':
	 1.	 The tax was came into force on 15 July 2016.
	 2.	 It is an indirect tax, introduced to make India 

a unified common market.
	 3.	 It is a single tax on the supply of goods and 

services from the manufacturer to the 
consumers.

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 and 3 only	 (b)	 1 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 36.	 Recently, the 27-members European Union has 

agreed to a landmark agreement to counter the 
negative effects of Covid-19 on member countries' 
economy. Consider the following statements in the 
context of  the provisions of this agreement:

	 1.	 The agreement provides for a budget of 1.1 
trillion Euro for the European Union for the 
next seven years.

	 2.	 It has a provision for disbursement of low 
interest loans of 360 billion Euros to the 
country’s most affected by the Covid-19 
epidemic.

	 3.	 It has a provision of grant of 390 billion Euros 
to the most affected economies.

		  Which of the statement(s) given above is/are correct?
	 (a)	 3 only	 (b)	 1, 2 and 3
	 (c)	 1 and 3 only	 (d)	 2 and 3 only
	 37.	 Recently, the Supreme Court building of which of 

the following countries was inaugurated by the Indian 
Prime Minister, which is one of the five projects 
implemented under India's 'Special Economic 
Package'?

	 (a)	 Berlin, (Germany)
	 (b)	 Paris, (France)
	 (c)	 Port Louis (Mauritius)
	 (d)	 Madrid (Spain).
	 38.	 Consider the following statements:
	 1.	 Forward Contamination refers to reaching of 

bacteria on the earth  from various astronomical 
objects of space, which is not yet present in 
the Earth's biosphere. 

	 2.	 Back contamination refers to the presence of 
bacter ia  on Ear th  reaching another 
astrophysicist.
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 39.	 ^foKku] izkS|ksfxdh ,oa uokpkj uhfr* 2020 ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g Hkkjr dh 5oha ^foKku] izkS|ksfxdh ,oa uokpkj 
uhfr gSA

	 2.	 bl uhfr ds fuekZ.k dh igy Hkkjr ljdkj ds 
izèkku oSKkfud lykgdkj rFkk foKku ,oa izkS|ksfxdh 
foHkkx (Mh,lVh) us la;qDr :i ls dh gSA

	 3-	 bl uhfr dh fuekZ.k izfØ;k esa eq[;r% ik¡p VªSd 
'kkfey fd;s x, gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	1, 2 vkSj 3

	 (c)	 dsoy 3	 (d)	 dsoy 2 vkSj 3

	 40.	 ckbZMw usohxs'ku lSVsykbV flLVe] fuEufyf[kr esa ls fdl 
ns'k ls lacaf/r gS\

	 (a)	 phu	 (b)	vesfjdk

	 (c)	 fczVsu	 (d)	 :l

	 41.	 fuEufyf[kr esa ls dkSu&lk ns'k COVID–19 dh oSDlhu 
dks vkf/dkfjd :i ls iathÑr dj mls mi;ksx djus ds 
fy;s rS;kj djus okyk igyk ns'k cu x;k gS\

	 (a)	 Hkkjr	 (b)	:l

	 (c)	 phu	 (d)	 vesfjdk

	 42.	 ^lsaVj iQkWj uSuks ,aM lkWÝV eSVj lkbalst* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g caxyw: (dukZVd) esa fLFkr gSA

	 2.	 ;g Hkkjr ljdkj ds foKku vkSj izkS|ksfxdh foHkkx 
ds rgr ,d Lok;Ùk laLFkku gSA

	 3-	 gky gh esa blds oSKkfudksa us fo|qr pqacdh; 
O;frdj.k ds izfr vn`'; dop@'khYM cukus gsrq 
/krq dh ,d tkyhnkj lajpuk dk fuekZ.k fd;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1, 2 vkSj 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 3	 (d)	 dsoy 2 vkSj 3

	 43.	 fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 1.	 fo|qr pqacdh; O;frdj.k ,d fo|qr pqacdh; 

mRltZu gS] tks vU; fo|qr midj.kksa esa xM+cM+h 
;k #dkoV mRiUu djrk gSA

	 2.	 fo|qr pqacdh; O;frdj.k ls lacaf/r leL;kvksa dks 
nwj djus gsrq o"kZ 1939 esa ̂ baVjus'kuy Lis'ky desVh 
vkWu jsfM;ks baVjisQjsal* dk xBu fd;k x;k FkkA

	 	dwV%

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 39.	 Consider the following statements in the context of  

'Science, Technology and Innovation Policy' 2020-
	 1.	 This is India's 5th 'Science, Technology and 

Innovation Policy.
	 2.	 This policy formulation has been initiated 

jointly by the Principal Scientific Advisor (PSA 
Office) and Department of Science and 
Technology (DST), Government of India.

	 3.	 Mainly five tracks have been included in the 
formulation of this policy.

		  Which of the statement(s) given above is/are not  
correct?

	 (a)	 1 and 2 only	 (b)	 1, 2 and 3
	 (c)	 3 only	 (d)	 2 and 3 only
	 40.	 Baidu Navigation Satellite System belongs to which 

of the following country?
	 (a)	 China	 (b)	 America
	 (c)	 Britain	 (d)	 Russia
	 41.	 Which of the following countries has become the first 

country to officially register the Covid-19 vaccine 
and prepare it for use? 

	 (a)	 India	 (b)	 Russia
	 (c)	 China	 (d)	 America
	 42.	 Consider the following statements in the context of  

'Centre for Nano and Soft Matter Sciences':
	 1.	 It is located in Bangalore (Karnataka). 
	 2.	 It is an autonomous institute under the 

Department of Science and Technology, 
Government of India.

	 3.	 Recently its scientists have developed a metal 
reticulated structure to make invisible armour 
/ shield against electromagnetic interference.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3	 (b)	 1 and 2 only
	 (c)	 3 only	 (d)	 2 and 3 only
	 43.	 Which of the following statement(s) is/are not 

correct?
	 1.	 E lec t romagnet ic  in te r fe rence  i s  an 

electromagnetic emission that causes 
disturbances or interruptions in other electrical 
equipment.

	 2.	 The International Special Committee on Radio 
Interference was formed in the year 1939 to 
ove rcome  the  p rob lems  r e l a t ed  to 
electromagnetic interference.

		  Code:
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 44.	 gky gh esa vkWuykbu izkboslh lkWY;w'ku izksokbMj] liZQ'kdZ 
us ^fMftVy DokfyVh vkWiQ ykbiQ baMsDl&2020* tkjh 
fd;k gSA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g liZQ'kdZ }kjk fo'o ds 85 ns'kksa (fMftVy 
tula[;k dk 81%) dh fMftVy lsokvksa dh 
xq.koÙkk ij fd;k x;k oSf'od 'kks/ gSA

	 2.	 blds vuqlkj] Hkkjr baVjusV xq.koÙkk ds ekeys esa 
fo'o ds lcls fupys ik;nku okys ns'kksa esa ls ,d 
gSA

	 3-	 LdSafMusfo;kbZ ns'kksa us vius ukxfjdksa dks mPp 
xq.koÙkk okyh fMftVy lsok iznku djus esa mRÑ"Vrk 
gkfly dh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 45.	 ^vkbZ;wlh,u* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bldh LFkkiuk vDVwcj 1954 esa gqbZA
	 2.	 bldk eq[;ky; U;w;kWdZ] la;qDr jkT; vesfjdk esa 

gSA

	 3-	 ;g la;qDr jk"Vª egklHkk dk ^i;Zos{kd ntkZ* izkIr 
,dek=k varjkZ"Vªh; laxBu gS] tks i;kZoj.k vkSj 
tSo&fofo/rk ls lacaf/r eqn~nksa dks ns[krk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 46.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 tyok;q ifjorZu ij varj ljdkjh lfefr 

(vkbZihlhlh) ,d oSf'od laLFkk gS] ftldk dk;Z 
ekuoh; xfrfof/;ksa ls gksus okys tyok;q ifjorZu 
ds [krjksa dk ewY;kadu djuk gSA

	 2.	 bl laLFkk dk xBu o"kZ 1988 eas la;qDr jk"Vª 	
dh nks laLFkkvksa& fo'o ekSle foKku laxBu vkSj 
la;qDr jk"Vª i;kZoj.k dk;ZØe ds }kjk fd;k x;k 
FkkA

	 3-	 bldk eq[;ky; U;w;kWdZ] vesfjdk esa fLFkr gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3
	 (c)	 dsoy 2 vkSj 3 	 (d)	 dsoy 1 vkSj 3

	 47.	 la;qDr jk"Vª i;kZoj.k dk;ZØe }kjk ,d xSj&ykHkdkjh laLFkk  
^oYMZ datjos'ku ekWfuVfjax lsaVj* dh LFkkiuk fuEufyf[kr 
esa ls fdl o"kZ esa dh xbZ] ftldk eq[; dk;Z tSo fofoèkrk 
ls lacaf/r lwpukvksa dks ,d=k djuk rFkk budk vkdyu 
izLrqr djuk gS\

	 (a)	 o"kZ 2004	 (b)	o"kZ 2005

	 (c)	 o"kZ 2000	 (d)	 o"kZ 2002

	 44.	 Recently online privacy solution provider, Surfshark 
has released 'Digital Quality of Life Index -2020'. In 
this context, consider the following statements:

	 1.	 This is the global research conducted by 
SurfShark on the quality of digital services in 
85 countries (81% of the digital population) 
of the world.

	 2.	 According to this, India is one of the lowest 
ranked countries in the world in terms of 
internet quality.

	 3.	 Scandinavian countries have excelled in 
providing high quality digital service to their 
citizens.

		  Which of the statement(s) given above is/are correct?
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 45.	 Consider the following statements in the context of  

'IUCN':
	 1.	 It was established in October 1954. 
	 2.	 It is headquartered in New York, United States 

of America.
	 3.	 It is the only international organization in the 

United Nations General Assembly with 
'observer status' that deals with issues related 
to the environment and biodiversity.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 2 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 46.	 Consider the following statements:
	 1.	 The Intergovernmental Committee on Climate 

Change (IPCC) is a global body whose task is 
to assess the risks of climate change from 
human activities. 

	 2.	 This institution was formed in the year 1988 
by two United Nations institutions, the World 
Meteorological Organization and the United 
Nations Environment Program.

	 3.	 Its headquarter is located in New York, USA.
		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 2 and 3 only	 (d)	 1 and 3 only
	 47.	 In which of the following years, a non-profit 

organization 'World Conservation Monitoring Centre' 
was set up by the United Nations Environment 
Program, whose main task is to collect and submit 
information related to biodiversity?

	 (a)	 2004	 (b)	 2005
	 (c)	 2000	 (d)	 2002
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	 48.	 ^oU;tho vijk/ fu;a=k.k C;wjks* ds lanHkZ esa fuEufyf[kr 

dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 1.	 ;g C;wjks ,d cgqvk;keh lkafof/d laLFkk gSA

	 2.	 bldh LFkkiuk Hkkjr ljdkj ds i;kZoj.k] ou vkSj 

tyok;q ifjorZu ea=kky; ds v/hu dh xbZ FkhA

	 3-	 bldk eq[;ky; eqacbZ esa fLFkr gSA

	 4.	 blds lkr {ks=kh; dk;kZy; gSaA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2 	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 4	 (d)	 1, 2, 3 vkSj 4

	 49.	 ^lsaVj iQkWj lkbal ,aM ,uok;juesaV* ds lanHkZ esas fuEufyf[kr 

dFkuksa ij fopkj dhft;s%

	 1.	 bldh LFkkiuk 1980 esa gqbZ FkhA

	 2.	 blds laLFkkid vfuy dqekj vxzoky FksA

	 3-	 bldk mn~ns'; i;kZoj.k vkSj fodkl ds laca/ksa dk 

vè;;u ,oa ewY;kadu dj lrr~~ fodkl ds izfr 

yksxksa esa psruk tkx`r djuk FkkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 50.	 ^fo'o cSad* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g vfodflr rFkk fodkl'khy ns'kksa esa vkfFkZd 
mUufr ds fy;s foÙkiks"k.k] lykg vkSj vuqlaèkku 
miyCèk djkus gsrq lefiZr ,d varjkZ"Vªh; laxBu 
gSA

	 2.	 bldk eq[;ky; okf'kaxVu Mh-lh- esa fLFkr gSA

	 3-	 ;g la;qDr jk"Vª dh fof'k"V laLFkk gS] ftldk izeq[k 
mn~ns'; lnL; jk"Vªksa dks iqufuZekZ.k vkSj fodkl ds 
dk;ks± esa vkfFkZd lgk;rk nsuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 3

	 (c)	 1, 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 51.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 th&20 lewg dh LFkkiuk ^iwohZ ,f'k;kbZ foÙkh; 
ladV* ds ckn o"kZ 1999 esa gqbZ FkhA

	 2.	 th&20 lewg ds lHkh lnL; lexz :i ls fo'o 
tula[;k dk yxHkx ,d&frgkbZ] fo'o th-Mh-ih- 
dk yxHkx 75% Hkkx dk izfrfuf/Ro djrs gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1, u gh 2

	 48.	 Which of the following statement(s) is/are correct in 
the context of  'Wildlife Crime Control Bureau'?

	 1.	 This bureau is a multidisciplinary statutory 
body.

	 2.	 It was established under the Ministry of 
Environment, Forest and Climate Change, 
Government of India.

	 3.	 Its headquarters is located in Mumbai. 
	 4.	 It has seven regional offices.
		  Code:
	 (a)	 1 and 2 only	 (b)	 2, 3 and 4 only
	 (c)	 4 only	 (d)	 1, 2, 3 and 4
	 49.	 Consider the following statements in the context of 

'Centre for Science and Environment'.
	 1.	 It was established in 1980. 
	 2.	 Its founder was' Anil Kumar Aggarwal.
	 3.	 Its aim was to awaken consciousness among 

people towards sustainable development by 
studying and evaluating the relationship 
between environment and development.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 50.	 Consider the following statements in the context of  

'World Bank':
	 1.	 It is an international organization dedicated to 

providing financing, advice and research for 
economic growth in underdeveloped and 
developing countries.

	 2.	 Its headquarter is located in Washington DC.
	 3.	 It is a specialized body of the United Nations, 

whose main objective is to provide financial 
assistance to member nations in the work of 
reconstruction and development.

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 51.	 Consider the following statements:
	 1.	 The G20 group was constituted in 1999 after 

the 'East Asian Financial Crisis'.
	 2.	 All members of the G20 group represent about 

one-third of the world population and about 
75% of the world GDP.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 52.	 i;kZoj.kh; izHkko vkdyu elkSnk] 2020 ds lanHkZ esa] 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g elkSnk i;kZoj.kh; lqj{kk gsrq lkoZtfud 
lgHkkfxrk dks lhfer djrk gSA

	 2.	 ;g elkSnk ljdkj dh foosdk/hu 'kfDr dks c<+kus 
dk izLrko djrk gSA

	 3.	 Hkkjr esa i;kZoj.kh; izHkko vkdyu dk vkjaHk o"kZ 
1980&82 esa gqvkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 53.	 ^Cyw cs ejhu ikdZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s%

	 1.	 ;g ikdZ ekWfj'kl ds nf{k.k&iwoZ esa fLFkr gSA

	 2.	 bl ikdZ dks jkelj vfHkle; }kjk varjkZ"Vªh; egÙo 
dh vknzZHkwfe ds :i esa ukfer fd;k x;k gSA

	 3.	 izoky fHkfÙk;ksa] eSaxzkso] leqnzh ?kkl ds eSnkuksa ,oa 
eSØks 'kSoky dh mifLFkfr bl ikdZ dks ikfjfLFkfrd 
:i ls laosnu'khy {ks=k cukrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	1, 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 dsoy 2 vkSj 3

	 54.	 mixzg MkVk ij vk/kfjr ,d vè;;u ds vuqlkj] 
fuEufyf[kr esa ls fdl jkT; esa ouksa dh dVkbZ dh mPp 
nj ds dkj.k gkWuZfcy i{kh ds fuokl LFkku [krjs esa iM+ 
jgs gSa\

	 (a)	 ukxkySaM	 (b)	vle

	 (c)	 v#.kkpy izns'k	 (d)	 fe”kksje

	 55.	 ^iDds Vkbxj fj”koZ* ;k ^i[kqbZ Vkbxj fj”koZ* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g flfDde jkT; esa fLFkr gSA

	 2.	 bldk dqy {ks=kiQy yxHkx 962 oxZ fdeh- gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 56.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 veksfu;k ikuh esa vkWDlhtu dh ek=kk dks de dj 
nsrh gSA

	 2.	 veksfu;k ukbVªkstu ds vkWDlhdj.k :i dks ifjofrZr 
dj nsrk gS ftlls ̂ tSo jklk;fud vkWDlhtu ekax* 
c<+ tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gS\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 52.	 Consider the following statements in the context of 
Environmental Impact Assessment Draft, 2020.

	 1.	 This draft limits public participation for 
environmental protection.

	 2.	 This draft proposes to increase the discretionary 
power of the government.

	 3.	 Environmental Impact Assessment in India 
was started in the year 1980-82.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 3 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3

	 53.	 Consider the following statements in the context of  
'Blue Bay Marine Park':

	 1.	 This park is located in the southeast of 
Mauritius.

	 2.	 The park has been nominated  as the  wetland 
of international importance by the Ramsar 
Convention.

	 3.	 The presence of coral reefs, mangroves, sea 
grasslands and macro algae make this park an 
ecologically sensitive area.

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 1, 2 and 3

	 (c)	 1 and 2 only	 (d)	 2 and 3 only

	 54.	 According to a study based on satellite data, in which 
of the following states are habitats of hornbill birds 
being  endangered due to high rates of deforestation?

	 (a)	 Nagaland	 (b)	 Assam

	 (c)	 Arunachal Pradesh	 (d)	 Mizoram

	 55.	 Consider the following statements in the context of  
'Pakke Tiger Reserve' or 'Pakhui Tiger Reserve'.

	 1.	 It is located in the state of Sikkim. 

	 2.	 Its total area is about 962 sq km.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2

	 56.	 Consider the following statements:
	 1.	 Ammonia reduces the amount of oxygen in 

water.

	 2.	 Ammonia converts the oxidized form of 
nitrogen which increases the 'biochemical 
oxygen demand'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only

	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 57.	 ^frykjh laj{k.k fj”koZ* ds lanHkZ esa fuEufyf[kr dFkuksa ij 

fopkj dhft;s%

	 1.	 ;g egkjk"Vª ds fla/qnqxZ f”kys esa fLFkr gSA

	 2.	 ;g egkjk"Vª dk lkrok¡ oU;tho xfy;kjk gS] ftls 

^laj{k.k fj”koZ* ds :i esa ?kksf"kr fd;k x;k gSA

	 3.	 ;g xksok ds egknsbZ vHk;kj.; dks dukZVd ds 

Hkhex<+ ls tksM+rk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 1] 2 vkSj 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2	 (d)	 dsoy 2 vkSj 3

	 58.	 ^ekbØksIykfLVd* ds lanHkZ esa] fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ekbØksIykfLVDl lkr feyhehVj ls Hkh NksVs vkdkj 

ds IykfLVd ds VqdM+s gksrs gSaA

	 2.	 iz'kkar] vVykafVd vkSj fgan egklkxj esa mPPk Lrj 

ds ekbØksIykfLVDl ik, x, gSaA

	 3.	 vVykafVd egklkxj esa 11.6-21.1 fefy;u Vu 
ekbØksIykfLVd ds d.k ik, x,A

	 4.	 ekbØkschM~l Hkh ,d izdkj ds ekbØksIykfLVDl 

gksrs gSa] ftudk vkdkj ,d feyhehVj ls de gksrk 

gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2 vkSj 4

	 (c)	 dsoy 1] 2 vkSj 3	 (d)	 dsoy 2, 3 vkSj 4

	 59.	 fuEufyf[kr dFkuksa esa ls dkSu&ls lgh gSa\

	 1.	 lkSj dyad lw;Z dh lrg dk ,slk {ks=k gksrk gS] 

ftldh lrg blds vkl&ikl ds fgLlksa dh rqyuk 

esa vis{kkÑr dkyh gksrh gS rFkk rkieku de gksrk 

gSA

	 2.	 ;g lw;Z dh ckgjh lrg] vFkkZr~ iQksVksLiQh;j dk 

,slk {ks=k gksrk gS] tgk¡ fdlh rkjs dk pqacdh; {ks=k 

lcls vf/d gksrk gSA

	 3.	 lkSj dyad vf/dka'kr% lewgksa esa fn[kkbZ nsrs gSa 

rFkk mudk viuk pqacdh; {ks=k gksrk gS] ftldh 

/zqoh;rk yxHkx 11 o"kZ esa cnyrh gS] ftls ,d 

^lkSj pØ* dgk tkrk gSA

	 4.	 orZeku lkSj pØ dh 'kq#vkr o"kZ 2008 ls ekuh 

tkrh gSA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 4

	 (c)	 dsoy 1, 2 vkSj 4	 (d)	 1, 2, 3 vkSj 4

	 57.	 Consider the following statements in the context of  
'Tilari Conservation Reserve':

	 1.	 It is located in Sindhudurg district of 
Maharashtra. 

	 2.	 It is the seventh wildlife corridor of Maharashtra 
declared as 'Conservation Reserve'.

	 3.	 It connects the Mahadei Sanctuary of Goa to 
Bhimgarh in Karnataka.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3

	 (b)	 1 and 2 only

	 (c)	 2 only

	 (d)	 2 and 3 only

	 58.	 With reference to 'Microplastics'  Consider the 
following statements : 

	 1.	 Microplastics are pieces of plastic smaller than 
seven millimeters in size. 

	 2.	 High levels of microplastics have been found 
in the Pacific, Atlantic and Indian Ocean. 

	 3.	 11.6-21.1 million tonnes of microplastic 
particles were found in the Atlantic Ocean. 

	 4.	 Microbeads are also a type of microplastics 
that are less than one millimeter in size.

		  Which of the  statements given above are correct?
	 (a)	 1 and 3 only

	 (b)	 2 and 4 only

	 (c)	 1, 2 and 3

	 (d)	 2, 3 and 4

	 59.	 Which of the following statements are correct?
	 1.	 Solar stigma is an area of the surface of the 

Sun, whose surface is relatively black 
compared to its surroundings and the 
temperature is low.

	 2.	 It is the area of the outer surface of the Sun, ie 
the photosphere, where the magnetic field of 
a star is the highest.

	 3.	 Solar stigmas appear mostly in groups and have 
their own magnetic field, whose polarity 
changes at about 11 years, which is called a 
'solar cycle'.

	 4.	 The beginning of the current solar cycle is 
considered from the year 2008.

		  Code:
	 (a)	 1 and 2 only	 (b)	 2 and 4 only

	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4
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	 60.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 leqnz Lrj esa o`f¼ ls vfHkizk; oSf'od rkieku esa 

o`f¼ ds izHkkoksa ds ifj.kkeLo:i egklkxjksa ds ty 

Lrj esa gksus okyh o`f¼ ls gSA

	 2.	 thok'e b±/u dks tykuk oSf'od rkieku esa o`f¼ 

ds izeq[k dkj.kksa esa ls ,d gksrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 61.	 ^vxÙkh }hi* ds lanHkZ eas fuEufyf[kr dFkuksa ij fopkj 

dhft;s%

	 1.	 ;g }hi vaMeku vkSj fudksckj esa fLFkr gSA

	 2.	 bl }hi dk lcls egÙoiw.kZ m|ksx eRL; ikyu 

gSA

	 3.	 bl }hi esa ewaxk o`f¼ vkSj cgqjaxh izoky eNfy;k¡ 

cgqrk;r esa ikbZ tkrh gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\ 

	 (a)	 dsoy 1	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 1, 2 vkSj 3

	 62.	 dsanzh; efgyk ,oa cky fodkl ea=kky; }kjk ekr`Ro dh 

vk;q] ekr` e`R;q nj vkSj efgykvksa ds iks"k.k Lrj esa lqèkkj 

ls lacaf/r eqn~nksa dh tk¡p djus gsrq fuEufyf[kr esa ls 

fdldh vè;{krk esa ,d VkLd iQkslZ dk xBu fd;k x;k 

Fkk\

	 (a)	 t;k tsVyh	 (b)	fofFkdk ;kno

	 (c)	 Ñfr Hkkjrh	 (d)	 fyflfiz;k daxqte

	 63.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 jkiQsy yM+kdw foeku esa ekStwn ehVhvksj felkby 

gok&ls&”kehu esa ekj djus okyh felkby gS] tks 

yxHkx 400 fdyksehVj dh nwjh ls nq'eu ds foekuksa 

dks fu'kkuk cuk ldrh gSA

	 2.	 jkiQsy esa ekStwn LdYi Øwt felkby iz.kkyh 

gok&ls&gok ij geyk djus okyh felkby iz.kkyh 

gS] tks yxHkx 200 fdyksehVj nwj fu'kkuk lk/us 

esa l{ke gSA

	 3.	 jkiQsy esa ekStwn MICA felkby iz.kkyh gok&ls&gok 

esa ekj djus okyh ,d cgqeq[kh iz.kkyh gS vkSj ;g 

100 fdyksehVj dh nwjh rd fu'kkuk lkèkus esa l{ke 

gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 60.	 Consider the following statements:
	 1.	 A rise in sea level means a rise in the water 

level of the oceans as a result of the effects of 
an increase in global temperature.

	 2.	 Burning of fossil fuels is one of the major 
causes of global temperature rise.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only

	 (b)	 2 only

	 (c)	 Both 1 and 2

	 (d)	 Neither 1 nor 2

	 61.	 Consider the following statements in the context of  
'Agatti Islands':

	 1.	 This island is located in Andaman and Nicobar.

	 2.	 The most important industry of the island is 
fisheries. 

	 3.	 The coral growth and multicolored coral fishes 
are found in abundance in this island.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only

	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 62.	 A task force under the chairmanship of which of the 
following was formed by the Union Ministry of 
Women and Child Development to examine issues 
related to maternal age, maternal mortality and 
improvement in nutritional status of women?

	 (a)	 Jaya Jaitley

	 (b)	 Vithika Yadav

	 (c)	 Kriti Bharati

	 (d)	 Lysipria Kanguzum

	 63.	 Consider the following statements:
	 1.	 The Meteor missile present in Rafale fighter 

aircraft is an air-to-ground missile, which can 
target enemy aircraft from a distance of about 
400 km.

	 2.	 The Sculp Cruise Missile System present in 
Rafale is an air-to-air assault missile system 
capable of hitting about 200 kilometers.

	 3.	 The MICA missile system present in Rafale is 
a versatile air-to-air missile system and can 
fire up to 100 kilometers.

		  Which of the statement(s) given above is/are correct? 
	 (a)	 1 and 2 only	 (b)	 3 only

	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 64.	 ^ukSlsuk uokpkj vkSj Lons'khdj.k laxBu* ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl laxBu dk 'kqHkkjaHk dsanzh; j{kk ea=kh }kjk ,d 
vkWuykbu osfcukj ds ekè;e ls fd;k x;k gSA

	 2.	 ;g eq[;r% f}&Lrjh; laxBu gksxkA

	 3.	 ;g laxBu vkRefuHkZj Hkkjr ds y{; dks è;ku esa 
j[krs gq, j{kk {ks=k esa vkRefuHkZjrk gsrq uoksUes"k.k 
,oa Lons'khdj.k dks izsfjr djus dh fn'kk esa dk;Z 
djsxkA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2 vkSj 3 

	 (c)	 dsoy 3	 (d)	 1] 2 vkSj 3

	 65.	 ^czw leqnk;* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 ;g leqnk; Hkkjr ds iwoksZÙkj {ks=k dk ,d tutkrh; 
lewg gSA

	 2.	 ;g leqnk; Lo;a dks E;k¡ekj ds 'kku izkar dk ewy 
fuoklh ekurk gSA

	 3.	 bl leqnk; dh lcls vf/d vkcknh Hkkjr ds 
fe”kksje jkT; ds ekfer vkSj dksykflc f”kyksa esa 
ikbZ tkrh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 66.	 ^MsFk oSyh* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s% 

	 1.	 ;g mÙkjh vesfjdk esa mÙkjh ekstkos jsfxLrku ds 
iwohZ dSfyiQksfuZ;k esa ,d jsfxLrkuh ?kkVh gSA

	 2.	 bldks ̂ 'kSrku dk xksYiQ dkslZ* ds uke ls Hkh tkuk 
tkrk gSA

	 3.	 gky gh esa vesfjdh jk"Vªh; ekSle lsok us crk;k 
fd nf{k.kh dSfyiQksfuZ;k jsfxLrku esa MsFk oSyh ds 
iQusZl Øhd esa rkieku 54.4 fMxzh lsfYl;l rd 
igq¡p x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 2 	 (d)	 1] 2 vkSj 3

	  67.	 gky gh esa fdlkuksa dh lgk;rk gsrq Hkkjr dh igyh 
lkIrkfgd ^fdlku jsy* dks fuEufyf[kr esa ls fdu nks 
jkT;ksa ds eè; 'kq: fd;k x;k gS\

	 (a)	 egkjk"Vª ,oa eè; izns'k ds eè;

	 (b)	 jktLFkku ,oa gfj;k.kk ds eè;

	 (c)	 fcgkj ,oa >kj[kaM ds eè;

	 (d)	 egkjk"Vª ,oa fcgkj ds eè;

	 64.	 Consider the following statements in the context of  
'Naval Innovation and Indigenization Organization':

	 1.	 This organization has been launched by the 
Union Minister of Defence through an online 
webinar.

	 2.	 It will be primarily a two-tier organization.

	 3.	 This organization will work towards motivating 
innovation and indigenization for self-reliance 
in defence sector keeping in view the goal of 
'Atmanirbhar Bharat'.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only

	 (c)	 3 only	 (d)	 1, 2 and 3

	 65.	 Consider the following statements in the context of  
'Bru community': 

	 1.	 This community is a tribal group in the 
northeastern region of India.

	 2.	 This community considers itself a native of the 
Shan province of Myanmar. 

	 3.	 The largest population of this community is 
found in Mamit and Kolasib districts of 
Mizoram state of India. 

		  Which of the statement(s) given above is/are correct?
	 (a)	 3 only

	 (b)	 1 and 2 only

	 (c)	 1, 2 and 3

	 (d)	 2 and 3 only

	 66.	 Consider the following statements in the context of  
‘Death Valley’ :

	 1.	 It is a desert valley in eastern California in the 
northern Mojave Desert in North America.

	 2.	 It is also known as 'Devil's Golf Course'.

	 3.	 Recently the US Meteorological Service 
reported that the temperature of Furnace Creek 
in Death Valley in the Southern California 
Desert has reached 54.4 degrees Celsius.

		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 2 and 3 only

	 (c)	 1 and 2 only	 (d)	 1, 2 and 3

	 67.	 Recently India's first weekly 'Kisan Rail' has been 
launched between which of the following two states 
to help the farmers?

	 (a)	 Maharashtra and Madhya Pradesh

	 (b)	 Rajasthan and Haryana

	 (c)	 Bihar and Jharkhand

	 (d)	 Maharashtra and Bihar.
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	 68.	 fuEufyf[kr esa ls fdl frfFk dks Hkkjr ljdkj }kjk vkink 
izca/u ds {ks=k esa mRÑ"Vrk gsrq ^lqHkk"k panz cksl vkink 
izca/u iqjLdkj* dh ?kks"k.kk dh tkrh gS\

	 (a)	 22 fnlacj	 (b)	23 tuojh

	 (c)	 15 iQjojh	 (d)	 10 ekpZ

	 69.	 ^euksniZ.k igy* ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj 
dhft;s%

	 1.	 bl igy dk mn~ns'; Nk=kksa dks muds ekufld 
LokLF; ,oa dY;k.k ds fy;s eukslkekftd lgk;rk 
iznku djuk gSA

	 2.	 ekuo iwath dks l'kDr djus ,oa mldh mRikndrk 
c<+kus gsrq bl igy dks vkRefuHkZj Hkkjr vfHk;ku 
esa 'kkfey fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 70.	 ^LoPN losZ{k.k&2020* ds lanHkZ esa fuEufyf[kr dFkuksa esa 
ls dkSu&ls lgh gSa\

	 1.	 ;g ns'k ds okf"kZd LoPN losZ{k.k dk NBk laLdj.k 
gSA

	 2.	 bl losZ{k.k esa eè; izns'k ds bankSj 'kgj dks izFke 
iqjLdkj izkIr gqvk gSA

	 3.	 bleas xaxk unh ds rV ij cls 'kgjksa esa iz;kxjkt 
dks lcls LoPN 'kgj dk iqjLdkj izkIr gqvk gSA

	 4.	 blesa ubZ fnYyh dks ns'k dh lcls LoPN jkt/kuh 
'kgj gsrq iqjLÑr fd;k x;k gSA

	 	dwV%
	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2  vkSj 4

	 (c)	 dsoy 1] 2 vkSj 4	 (d)	 1, 2, 3 vkSj 4

	 71.	 fuEufyf[kr esa ls fdl jkT;@dsaæ'kkflr izns'k ds eq[;ea=kh 
us vius jkT;@dsaæ'kkflr izns'k esa yksxksa ds njok”ks ij 
lEekuiwoZd jk'ku igq¡pkus dh O;oLFkk gsrq ^eq[;ea=kh 
?kj&?kj jk'ku ;kstuk* dks ea”kwjh nh gS\

	 (a)	 egkjk"Vª	 (b)	gfj;k.kk

	 (c)	 jktLFkku	 (d)	 fnYyh

	 72.	 ^Ms;j Vw Mªhe 2.0* ds lanHkZ esa fuEufyf[kr dFkuksa ij 
fopkj dhft;s% 

	 1.	 bldk 'kqHkkjaHk j{kk vuqla/ku ,oa fodkl laxBu 
}kjk fd;k x;k gSA

	 2.	 ;g ;kstuk ns'k esa j{kk ,oa ,;jksLisl izkS|ksfxfd;ksa 
esa uokpkj gsrq O;fDr;ksa vkSj LVkVZvi dks c<+kok 
nsus rFkk mHkjrh gqbZ izkS|ksfxdh dks izksRlkgu nsus 
gsrq 'kq: dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 68.	 On which of the following dates, the 'Subhash 
Chandra Bose Disaster Management Award' is 
announced by the Government of India in the field 
of disaster management?

	 (a)	 22 December	 (b)	 23 January
	 (c)	 15 February	 (d)	 10 March
	 69.	 With reference to the 'Manodarpan initiative' Consider 

the following statements:
	 1.	 The objective of this initiative is to provide 

psychosocial support to students for their 
mental health and well-being.

	 2.	 In order to empower human capital and 
increase its productivity, this initiative has 
been included in the Atmanirbhar Bharat 
Abhiyan (Campaign).

		  Which of the statement(s) given above is / are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 70.	 Which of the following statements are correct in the 

context of 'Swachh Survekshan -2020'?
	 1.	 This is the sixth edition for annual survey of 

cleanliness,  of the country.
	 2.	 Indore city of Madhya Pradesh has received 

first prize in this survey.
	 3.	 In this, Prayagraj has received the cleanest city 

award among the cities situated on the banks 
of river Ganges.

	 4.	 In this, New Delhi has been awarded for the 
cleanest capital city of the country.

		  Code:
	 (a)	 1 and 3 only	 (b)	 2 and 4 only
	 (c)	 1, 2 and 4 only	 (d)	 1, 2, 3 and 4
	 71.	 The Chief Minister of which of the following states 

has approved the 'Mukhyamantri Ghar-Ghar Ration 
Yojana' to deliver ration to the doorsteps of people 
in his state in dignified way?

	 (a)	 Maharashtra	 (b)	 Haryana
	 (c)	 Rajasthan	 (d)	 Delhi
	 72.	 Consider the following statements in the context of 

'Dare to Dream 2.0':
	 1.	 It has been launched by the Defence Research 

and Development Organization.
	 2.	 The scheme has been launched to promote 

individuals and startups for innovation in 
defence and aerospace technologies in the 
country and to promote emerging technology.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 73.	 ^djatk lkSj ÅtkZ la;a=k* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl lkSj ÅtkZ la;a=k dh LFkkiuk ukSlsuk LVs'ku 
^djatk* esa dh xbZ gSA

	 2.	 bl lkSj ÅtkZ la;a=k esa 100% Lons'kh :i ls 
fodflr fd;s x, lkSj iSuy] VªSfdax Vscy vkSj 
buoVZj yxs gq, gSaA

	 3.	 ;g la;a=k daI;wVjhÑr fuxjkuh vkSj fu;a=k.k ds 
lkFk&lkFk uohure izkS|ksfxdh dk mi;ksx djrs gq, 
fxzM ds lkFk tqM+k gqvk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 74.	 gky gh esa ,f'k;k vkSj iz'kkar {ks=k esa dksfoM&19 ds dkj.k 
mRiUu ;qok jks”kxkj ladV ls fuiVus ls lacaf/r fjiksVZ tkjh 
dh xbZA bl lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ varjkZ"Vªh; Je laxBu vkSj ,f'k;kbZ 
fodkl cSad }kjk la;qDr :i ls rS;kj dh xbZ gSA

	 2.	 ;g fjiksVZ ^Xykscy losZ vkWu ;wFk ,aM dksfoM&19* 
ds {ks=kh; vkdyu ij vk/kfjr gSA

	 3.	 fjiksVZ ds vuqlkj dksfoM&19 oSf'od egkekjh ds 
dkj.k Hkkjr esa 48 yk[k ;qokvksa dh ukSdjh tk 
pqdh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 75.	 ^varjkZ"Vªh; Je laxBu* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bldh LFkkiuk o"kZ 1920 esa gqbZ FkhA

	 2.	 bldk eq[;ky; ftusok] fLoV~”kjySaM esa fLFkr gSA

	 3.	 bldk mn~ns'; varjkZ"Vªh; Je ekud fu/kZfjr djds 
lkekftd vkSj vkfFkZd U;k; dks c<+kok nsuk gSA

	 4.	 Hkkjr bldk laLFkkid lnL; gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 4	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2, 3 vkSj 4

	 76.	 ve`r ;kstuk (vVy uohdj.k vkSj 'kgjh ifjorZu fe'ku 
;kstuk) ds lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl ;kstuk dk 'kqHkkjaHk o"kZ 2014 esa gqvkA

	 2.	 bl ;kstuk dk mn~ns'; jkT; ds 'kgjh {ks=kksa esa ?kjksa 
esa ikbi }kjk tykiwfrZ dh O;oLFkk] lhojst VªhVesaV 
IykaVksa dk fuekZ.k rFkk gfjr LFkkuksa esa lq/kj djuk 
gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 73.	 Consider the following statements in the context of  
'Karanja Solar Power Plant':

	 1.	 This solar power plant has been established at 
Naval Station Karanja.

	 2.	 This solar power plant is equipped with 100% 
indigenously developed solar panels, tracking 
tables and inverters.

	 3.	 The plant is connected to the grid using the 
latest technology, along with computerized 
monitoring and control.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 74.	 Recently the report related to dealing with youth 

employment crisis due to Covid-19 in Asia and Pacific 
was released. Consider the following statements in 
this contexts:

	 1.	 This report has been prepared jointly by the 
International Labour Organization and the 
Asian Development Bank.

	 2.	 This report is based on the regional assessment 
of 'Global Survey on Youth and Covid-19'.

	 3.	 According to the report, 48 lakh youths have 
lost their jobs in India due to Covid-19 global 
epidemic.

		  Which of the statement(s) given above is/are not 
correct?

	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 75.	 Consider the following statements in the context of  

'International Labour Organization':
	 1.	 It was established in the year 1920.
	 2.	 It is headquartered in Geneva, Switzerland.
	 3.	 Its aim is to promote social and economic 

justice by setting international labour 
standards.

	 4.	 India is its founding member.
		  Which of the statements given above  are correct?
	 (a)	 1 and 4 only	 (b)	 2, 3 and 4 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3 and 4
	 76.	 Consider the following statements in the context of  

Amri t  Yojana  (Ata l  Renewal  and Urban 
Transformation Mission Scheme):

	 1.	 The scheme was launched in the year 2014.
	 2.	 The purpose of this scheme is to improve the 

provision of water supply through pipes, 
construction of sewerage treatment plants and 
improvement of green spaces in the urban 
areas of the state.

		  Which of the statements given above is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
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	 77.	 ^,fUoLVsV~l bafM;k] 2020 fjiksVZ* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 ;g fjiksVZ lkaf[;dh vkSj dk;ZØe dk;kZUo;u 
ea=kky; }kjk rS;kj dh xbZ gSA

	 2.	 fjiksVZ ds vuqlkj 2018 esa xehZ dh ygj ds fnuksa 
dh la[;k esa 90% ls vf/d o`f¼ gqbZA

	 3.	 fjiksVZ ds vuqlkj xehZ dh ygj ds lcls vf/d 
fnuksa dh la[;k jktLFkku esa ntZ dh xbZ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 78.	 ^izkstsDV flD;ksj fgeky;kt* ds lanHkZ eas fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bl izkstsDV dks o"kZ 2019 esa 'kq: fd;k x;kA

	 2.	 bl izkstsDV dk mn~ns'; vkthfodk dh lqj{kk] 
laj{k.k rFkk LFkk;h mi;ksx dks c<+kok nsus vkSj 
fgeky;h; ikfjfLFkfrdh ra=k dh cgkyh djuk gSA

	 3.	 ;g izkstsDV fgeky; esa ik, tkus okys fge rsanqvksa 
vkSj vU; yqIrizk; iztkfr;ksa ds laj{k.k ij Hkh è;ku 
nsrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 79.	 gky gh esa Øks,f'k;kbZ ,oa teZu 'kks/dÙkkZvksa us Jhyadk 
ds o"kkZ ouksa ls ^fV~ox gkWij* dh ,d ubZ iztkfr 
^DySMksuksVl HkkLdjh* dh [kkst dhA bl lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bl ubZ iztkfr dk ukedj.k ^dsjy ou vuqla/ku 
laLFkku* ds ,d ;qok laj{k.k thofoKkuh ,oa fVM~Mh 
fo'ks"kK] ^/us'k HkkLdj* ds uke ij fd;k x;k gSA

	 2.	 bl iztkfr dks Jhyadk ds flagjktk o"kkZ ou esa 
[kkstk x;k gSA

	 3.	 bl iztkfr ls lacaf/r vè;;u dks 'kks/ if=kdk 
twVkDlk esa izdkf'kr fd;k x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1] 2 vkSj 3 	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2

	 80.	 ^,jkfodqye jk"Vªh; m|ku* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g dsjy ds bMqDdh f”kys esa vofLFkr gSA

	 2.	 bls o"kZ 1980 esa jk"Vªh; m|ku dk ntkZ fn;k x;k 
FkkA

	 3.	 ;g m|ku if'peh ?kkV es a vf}rh; eks aVsu 
'kksyk&xzklySaM ouLifr dk izfrfuf/Ro djrk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 2	 (b)	dsoy 1 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 77.	 Consider the following statements in the context of  
‘EnviStats India 2020 Report':

	 1.	 This report has been prepared by the Ministry 
of Statistics and Program Implementation.

	 2.	 According to the report, the number of days 
of heat wave increased by more than 90% in 
2018.

	 3.	 According to the report, the maximum number 
of days of heat wave has been recorded in 
Rajasthan.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 78.	 Consider the following statements in the context of  

'Project Secure Himalayas':
	 1.	 This project was started in the year 2019.
	 2.	 The objective of this project is to promote 

livelihood security, conservation and 
sustainable use and restore the Himalayan 
ecosystem.

	 3.	 This project also focuses on conservation of 
snow leopards and other endangered species 
found in the Himalayas.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 79.	 Recently Croatian and German researchers discovered 

'Cladonotus Bhaskari', a new species of 'twig hopper' 
from the rain forests of Sri Lanka. In this context, 
consider the following statements:

	 1.	 This new species is named after ‘Dhanesh 
Bhaskar’, a young conservation biologist and 
grasshopper expert of Kerala Forest Research 
Institute.

	 2.	 This species has been discovered in the 
Singharaja rain forest of Sri Lanka. 

	 3.	  The study related to this species has been 
published in the research journal Jutaxa.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 2 only
	 80.	 Consider the following statements in the context of  

'Eravikulam National Park':
	 1.	 It is located in Idukki district of Kerala. 
	 2.	 It was given the status of National Park in the 

year 1980.
	 3.	 The park represents the unique Montane Shola-

Grassland vegetation in the Western Ghats.
		  Which of the statement(s) given above is/are correct?
	 (a)	 2 only	 (b)	 1 and 3 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
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	 81.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ^gkyksvkfpZvk* ,d ,slk thok.kq gS] tks xqykch jax 
iSnk djrk gS vkSj [kkjs ikuh esa ik;k tkrk gSA

	 2.	 iq.ks fLFkr ^vkxjdj vuqla/ku laLFkku* }kjk dh 
xbZ tk¡p esa ik;k x;k gS fd egkjk"Vª esa yksukj 
>hy ds ikuh dk jax gkyksvkfpZvk uked lw{e 
tho dh mifLFkfr ds dkj.k xqykch gks x;k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 82.	 ^fjax vkWiQ iQk;j* ;k ifjiz'kkar egklkxjh; es[kyk ds 
lanHkZ esa fuEufyf[kr dFkuksa esa ls dkSu&ls lgh gSa\

	 1.	 ;g iz'kkar egklkxj ds pkjksa vksj foLr`r ,d ,slk 
{ks=k gS] tgk¡ foorZfud IysVsa vkil esa feyrh gSaA

	 2.	 ;g {ks=k fujarj gksus okyh Hkwdaih; ?kVukvksa ,oa 
Tokykeq[kh mn~xkj ds fy;s tkuk tkrk gSA

	 3.	 bl {ks=k esa 17,000 ls vf/d }hi ,oa }hi lewg 
lfEefyr gSaA

	 4.	 bl {ks=k esa fo'o ds yxHkx 85% Tokykeq[kh ik, 
tkrs gSaA

	 	dwV%

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 1, 2 vkSj 3

	 (c)	 dsoy 1, 2 vkSj 4	 (d)	 dsoy 3 vkSj 4

	 83.	 gky gh esa loksZPp U;k;ky; us vius fu.kZ; esa iq#"k  
mÙkjkf/dkjh dh 'krks± ds leku iSr`d laifÙk esa fganw 
efgykvksa ds mÙkjkf/dkj vkSj lg&leka'kHkkxh ;k la;qDr 
dkuwuh mÙkjkf/dkj ds vf/dkj dks lansg ;k vLi"Vrk ls 
eqDr dj fn;k gSA mYys[kuh; gS fd ;g fu.kZ; fganw 
mÙkjkfèkdkj (la'kks/u) vf/fu;e] 2005 ls lacaf/r gSA 
bl fu.kZ; ds fufgrkFkks± ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 ;g fu.kZ; ySafxd U;k; dh fn'kk es a ,d     
egÙoiw.kZ dne gS] tks ,d izxfr'khy lkekftd 
O;oLFkk dk vfuok;Z vax gSA

	 2.	 ;g Hkkjr esa izkphu le; ls pys vk jgs fir̀lÙkkRed 
iwokZxzg ls Hkkjrh; dkuwu dks eqDr djus dh nh?kZ 
izfØ;k dh rkfdZd ifj.kfr gSA

	 3.	 ;g lafo/ku fuekZrkvksa ds ml lius ls Hkh esy 
[kkrk gS] ftls mUgksaus ySafxd lekurk ds :i esa 
ns'k ds vk/kjHkwr nLrkos”k esa 'kkfey fd;k FkkA 

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1	 (d)	 1, 2 vkSj 3

	 81.	 Consider the following statements:
	 1.	 'Haloarchaea' is a bacterium that produces pink 

colour and is found in saltwater.
	 2.	 Investigations conducted by Pune-based 

Agarkar Research Institute have found that the 
colour of the Lonar lake in Maharashtra has 
turned pink due to the presence of micro-
organisms called Haloarchaea.

Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 2 only
	 (c)	 Both 1 and 2
	 (d)	 Neither 1 nor 2
	 82.	 Which of the following statement are correct in the 

context of  'Ring of Fire' or the Circum-Pacific Belt?
	 1.	 It is an area around the Pacific Ocean where 

tectonic plates meet.
	 2.	 This region is known for the continuous 

seismic events and volcanic eruptions.
	 3.	 The region consists of more than 17,000 islands 

and group of islands.
	 4.	 About 85% of the world's volcanoes are found 

in this region.
	 Code:
	 (a)	 1 and 2 only
	 (b)	 1, 2 and 3 only
	 (c)	 1, 2 and 4 only
	 (d)	 3 and 4 only
	 83.	 Recently the Supreme Court in its judgment has freed 

from doubt or ambiguity the succession of Hindu 
women in the ancestral property and the right of co-
parcener or joint legal succession in the same terms 
as the male heir. It is noteworthy that this decision is 
related to the Hindu Succession (Amendment) Act, 
2005. With reference to the implications of this 
decision, consider the following statements:

	 1.	 This decision is an important step towards 
gender justice which is an essential part of a 
progressive social order.

	 2.	 This is the logical culmination of the long 
process of freeing Indian law from the ancient 
patriarchal bias in India.

	 3.	 It also matches the dream of the framers of the 
constitution which they included in the 
country's underlying document as gender 
equality.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 only	 (d)	 1, 2 and 3
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	 84.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 ;wfulsiQ ds vuqlkj] fo'o Hkj esa yxHkx 750 

fefy;u yM+fd;ksa dk fookg 16 o"kZ ls de mez 
esa dj fn;k tkrk gSA

	 2.	 ;wfulsiQ ds vuqlkj] izR;sd o"kZ Hkkjr esa 16 o"kZ 
ls de mez dh de&ls&de 1.4 fefy;u yM+fd;ksa 
dk cky fookg dj fn;k tkrk gS] ftlls Hkkjr 
fo'o esa lcls vf/d cky fookg okyk ns'k gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 85.	 gky gh esa varjkZ"Vªh; Je laxBu ds cky Je ds lcls 

foÑr Lo:i ij vfHkle; dks fdaxMe vkWiQ Vksaxk dh 
iqf"V ds ckn lkoZHkkSfed vuqleFkZu izkIr gks x;k gSA bl 
lanHkZ esa fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 bls ^vfHkle; 182* ds :i esa tkuk tkrk gSA

	 2.	 bldks o"kZ 1999 esa ftusok esa varjkZ"Vªh; Je laxBu 
ds lnL; jkT;ksa dh cSBd }kjk viuk;k x;k FkkA

	 3.	 bldk mn~ns'; cPpksa dks cky Je ds lcls cqjs 
Lo:i ls cpkuk gS] blesa nkLkrk] os';kòfÙk] rLdjh] 
l'kL=k la?k"kZ eas cPpksa dh lafyIrrk ,oa mudh 
lexz HkykbZ ls tqM+s vU; i{k 'kkfey gSaA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2 vkSj 3

	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 1 vkSj 3

	 86.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 fo'o LokLF; laxBu ds vuqlkj ekr` e`R;q nj 

xHkkZoLFkk ;k mlds izca/u ls lacaf/r fdlh Hkh 
dkj.k ls (vkdfLed ;k vizR;kf'kr dkj.kksa dks 
NksM+dj) izfr 100,000 thfor tUeksa esa ekr` e`R;q 
dh okf"kZd la[;k gSA

	 2.	 Hkkjr esa ekr` e`R;q nj o"kZ 2015&17 ds 127 ds 
Lrj ls ?kVdj o"kZ 2016&18 esa 117 jg xbZ gSA

	 	fuEufyf[kr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 1 	 (b)	dsoy 2
	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2
	 87.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 lsuk dh rhuksa lsokvksa (Fky] ok;q vkSj ukSlsuk) esa 

efgyk vf/dkfj;ksa dks fpfdRlk] f'k{kk] fof/d] 
flXuy] jln ,oa bathfu;fjax lfgr pqus gq, {ks=kksa 
esa LFkk;h deh'ku iznku djus dh vuqefr nh xbZ gSA

	 2.	 ukSlsuk esa efgykvksa dks jln] ukSlsuk fM”kkbfuax] 
ok;q ;krk;kr fu;a=k.k] bathfu;fjax vkSj dkuwu vkfn 
foHkkxksa esa LFkk;h deh'ku nsus dh vuqefr gSA

	 3.	 Hkkjrh; ok;qlsuk esa ^'kkWVZ lfoZl deh'ku* efgyk 
vf/dkfj;ksa dks ^Ýykbax czk¡p* dks NksM+dj vU; 
lHkh foHkkxksa esa LFkk;h deh'ku izkIr djus dk 
fodYi fn;k x;k gSA

	 84.	 Consider the following statements:
	 1.	 According to UNICEF, around 750 million 

girls worldwide are married under the age of 
16.

	 2.	 According to UNICEF, every year at least 1.4 
million girls under the age of 16 are married 
in India, making India the most child married 
country in the world.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 85.	 Recently the International Labour Organization's 

convention on the most perverted form of child labour 
has received universal ratification after the ratification 
of the Kingdom of Tonga. In this context, consider 
the following statements:

	 1.	 It is known as ‘Convention 182’. 
	 2.	 It was adopted by the International Labour 

Organization member states meeting in 
Geneva in 1999.

	 3.	 It aims to protect children from the worst form 
of child labour, this includes slavery, 
prostitution, trafficking, involvement of 
children in armed struggle and other aspects 
related to their overall well-being. 

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 1 and 3 only
	 86.	 Consider the following statements:
	 1.	 According to the World Health Organization, 

maternal mortality is the annual number of 
maternal deaths per 100,000 live births for any 
reason (except accidental or unexpected 
reasons) related to pregnancy or i ts 
management. 

	 2.	 Maternal mortality rate in India has come down 
from 127 level in 2015-17 to 117 in 2016-18.

		  Which of the following statement(s) is/are not 
correct?

	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 87.	 Consider the following statements:
	 1.	 Women officers in Army, Air and Naval 

Services have been allowed to provide 
permanent commission in selected areas 
including Medical, Education, Legal, Signal, 
Logistics and Engineering.

	 2.	 Women in the Indian Navy are allowed to give 
permanent commission by the departments of 
Logistics, Naval Designing, Air Traffic control, 
Engineering and Law etc.

	 3.	 In the Indian Air Force, 'Short Service 
Commission' women officers have been given 
the option to get permanent commission in all 
other departments except 'Flying Branch'?
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	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 3

	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 88.	 ,&vkbZ vk/kfjr ^vlhe* fMftVy IysViQkWeZ ds lanHkZ esa 
fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 dkS'ky fodkl vkSj m|ferk ea=kky; }kjk 15 tqykbZ] 
2020 dks ^vkRefuHkZj dq'ky deZpkjh&fu;ksDrk 
ekufp=k.k (vlhe)] iksVZy ykWUp fd;k x;kA

	 2.	 bl iksVZy dks caxyw: fLFkr daiuh& csVjIysl ds 
lg;ksx ls jk"Vªh; dkS'ky fodkl fuxe }kjk 
fodflr ,oa izcaf/r fd;k x;k gSA

	 3.	 bl iksVZy dk mn~ns'; izksxzkesfVd mn~ns';ksa ds fy;s 
flLVe }kjk mRiUu #>kuksa rFkk fo'ys"k.kksa ds ekè;e 
ls leFkZu vkSj uhfr&fu/kZj.k esa lgk;rk iznku 
djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 89.	 fuEufyf[kr jpukvksa esa ls fdl jpuk dk laca/ johanzukFk 
VSxksj ls gS\

	 (a)	 Hkkjrh; oanuk	 (b)	paMkfydk

	 (c)	 xhrk jgL;	 (d)	 n bafM;u LVªxy

	 90.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 ukV~; 'kSyh		 jkT;

	 1.	 ekp 	 	eè; izns'k

	 2.	 rek'kk 	 	mÙkj izns'k

	 3.	 eqfM;sV~Vq 	 	rfeyukMq

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr gS@gSa\
	 (a)	 dsoy 1	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 91.	 fuEufyf[kr yksd fp=kdykvksa esa ls fdl fp=kdyk dk 
laca/ vksfM'kk jkT; ls gS\

	 (a)	 e/qcuh fp=kdkjh	 (b)	ratkSj dyk

	 (c)	 iÙkkfp=k fp=kdkjh	 (d)	 okyhZ yksd fp=kdyk

	 92.	 ^vkRefuHkZj Hkkjr vfHk;ku* ds lanHkZ esa fuEufyf[kr dFkuksa 
esa ls dkSu&ls lgh gSa\

	 1.	 blds rgr ̀ 25,000 djksM+ dh d”kZ lhek ds lkFk 
25 yk[k u, fdlku ØsfMV dkMks± dks ea”kwjh nh 
xbZ gSA

	 2.	 blesa eujsxk ds rgr e”knwjh dh nj dks c<+kdj 
`202 (igys ;g `182 Fkh) dj nh xbZ gSA

	 3.	 blds rgr iz/kuea=kh xjhc dY;k.k vUu ;kstuk 
ds ykHkkfFkZ;ksa dks eqÝr esa vukt fn;k tk jgk gSA

	 4.	 blds rgr izoklh e”knwjksa dks ̂ ,d ns'k ,d dkMZ* 
;kstuk ds varxZr tu&forj.k iz.kkyh dk bLrseky 
djus dh lqfo/k nh xbZ gSA

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 and 2 only	 (b)	 3 only
	 (c)	 1, 2 and 3	 (d)	 2 and 3 only
	 88.	 Consider the following statements in the context of  

A-I based ‘ASEEM’ digital platform:
	 1.	 'Aatamanirbhar Skilled Employee Employer 

Mapping (ASEEM)' portal launched by 
Minis t ry  of  Ski l l  Development  and 
Entrepreneurship on 15 July 2020.

	 2.	 This portal has been developed and managed 
by National Skill Development Corporation in 
collaboration with Bangalore-based company 
Betterplace.

	 3.	 The purpose of this portal is to provide support 
for programmatic purposes through system 
generated trends and analytics and support in 
policy making.

		  Which of the  statements given above  are correct?
	 (a)	 1 and 2 only	 (b)	 2 and 3 only
	 (c)	 1 and 3 only	 (d)	 1, 2 and 3
	 89.	 Which of the following works is related to 

Rabindranath Tagore?
	 (a)	 Bhartiya Vandana	 (b)	 Chandalika
	 (c)	 Gita Rahasya	 (d)	 The Indian Struggle
	 90.	 Consider the following pairs:
		 Theatrical style	 :	 state
	 1.	 Mach	 :	 Madhya Pradesh
	 2.	 Tamasha	 :	 Uttar Pradesh
	 3.	 Mudiyettu	 :	 Tamil Nadu
		  Which of the pair(s) given above  is/are correctly 

matched?
	 (a)	 1 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 91.	 Which of the following folk paintings is related to 

the state of Odisha?
	 (a)	 Madhubani Painting
	 (b)	 Tanjore art
	 (c)	 Pattachitra Painting
	 (d)	 Warli folk Painting
	 92.	 Which of the following statements is / are correct in 

the context of  'Aatamanirbhar Bharat Abhiyan'?
	 1.	 Under this, 25 lakh new Kisan Credit Cards 

have been approved with a loan limit of 25,000 
crores.

	 2.	 In this, the rate of wages under MNREGA has 
been increased to Rs 202 (earlier it was 182).

	 3.	 Under this, food grains are being given free of 
cost to the beneficiaries of Pradhan Mantri 
Garib Kalyan Anna Yojana.

	 4.	 Under this, migrant laborers have been given 
the facility to use the public distribution system 
under the 'one country one card' scheme.
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	 	dwV%
	 (a)	 dsoy 1 vkSj 4	 (b)	dsoy 2, 3 vkSj 4

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2, 3 vkSj 4

	 93.	 fuEufyf[kr ;qXeksa ij fopkj dhft;s%
	 	 ioZ@u`R; 		 jkT;

	 1.	 jksa?k[kyh 	 	es?kky;

	 2.	 uk>w 	 	ukxkySaM

	 3.	 jkBok uh ?ksj	 	egkjk"Vª

	 	mi;qZDr ;qXeksa esa ls dkSu&lk@ls lgh lqesfyr ugha gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1] 2 vkSj 3

	 94.	 ^varjkZ"Vªh; ck¡l vkSj jru laxBu* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;sA

	 1.	 ;g ,d cgqi{kh; fodkl laLFkk gSA

	 2.	 ;g ck¡l vkSj jru ds bLrseky ls i;kZoj.k ds fy;s 
laoguh; fodkl dks c<+kok nsrh gSA

	 3.	 Hkkjr us bl laf/ ij o"kZ 1999 esa gLrk{kj fd;s 
FksA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh ugha gS@gSa\
	 (a)	 dsoy 3	 (b)	dsoy 1 vkSj 2

	 (c)	 dsoy 2 vkSj 3	 (d)	 1, 2 vkSj 3

	 95.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%
	 1.	 Hkkjr ljdkj }kjk eksVs vukt dks vizSy 2018 esa 

^iks"kd vukt* ds :i esa vf/lwfpr fd;k x;k 
gSA

	 2.	 vksfM'kk esa eksVs vuktksa dks lkoZtfud forj.k 
iz.kkyh esa 'kkfey fd;k x;k gSA

	 3.	 la;qDr jk"Vª ds [kk| vkSj Ñf"k laxBu us o"kZ 2023 
dks ^varjkZ"Vªh; eksVk vukt o"kZ* ds :i esa ?kksf"kr 
djus ds izLrko dks ea”kwjh ns nh gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\
	 (a)	 dsoy 1 vkSj 2	 (b)	dsoy 2 vkSj 3

	 (c)	 dsoy 1 vkSj 3	 (d)	 1, 2 vkSj 3

	 96.	 ^SKOCH xksYM vokWMZ* ds lanHkZ esa fuEufyf[kr dFkuksa 
ij fopkj dhft;s%

	 1.	 bl vokWMZ dh 'kq#vkr o"kZ 2003 esa dh xbZ FkhA

	 2.	 ;g vokWMZ Hkkjr dks csgrj jk"Vª cukus ds fy;s 
vfrfjDr iz;kl djus okys O;fDr;ksa] ifj;kstukvksa 
rFkk laLFkkuksa dks iznku fd;k tkrk gSA

	 3.	 ;g fdlh Lora=k laxBu }kjk iznku fd;k tkus okyk 
ns'k dk loksZPp ukxfjd lEeku gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\
	 (a)	 1] 2 vkSj 3	 (b)	dsoy 2

	 (c)	 dsoy 1 vkSj 3	 (d)	 dsoy 2 vkSj 3

	 Code:
	 (a)	 1 and 4 only	 (b)	 2, 3 and 4 only
	 (c)	 2 and 3 only	 (d)	 1, 2, 3 and 4
	 93.	 Consider the following pairs:
		 Festival/Dance	 :	 State
	 1.	 Rongkhali	 :	 Meghalaya 
	 2.	 Nazhu	 :	 Nagaland 
	 3.	 Rathwa ni Gher	 :	 Maharashtra
		  Which of the pair(s)  given above is/are not correctly 

matched? 
	 (a)	 3 only	 (b)	 1 and 2 only
	 (c)	 2 and 3 only	 (d)	 1, 2 and 3
	 94.	 Consider the following statements in the context of  

'International Bamboo and Rattan Organization'.
	 1.	 It is a multilateral development institution.
	 2.	 It promotes sustainable development for the 

environment using bamboo and rattan.
	 3.	 India signed this treaty in the year 1999.
		  Which of the statement(s) given above is/are not 

correct?
	 (a)	 3 only
	 (b)	 1 and 2 only
	 (c)	 2 and 3 only
	 (d)	 1, 2 and 3
	 95.	 Consider the following statements:
	 1.	 Coarse grains have been notified as 'nutritious 

grains' by the Government of India in April 
2018.

	 2.	 Coarse cereals have been included in the public 
distribution system in Odisha.

	 3.	 The Food and Agriculture Organization of the 
United Nations has approved the proposal to 
declare the year 2023 as 'International Coarse 
Grains Year'.

		  Which of the statements given above are correct?
	 (a)	 1 and 2 only
	 (b)	 2 and 3 only
	 (c)	 1 and 3 only
	 (d)	 1, 2 and 3
	 96.	 Consider the following statements in the context of  

'SKOCH Gold Award':
	 1.	 This award was instituted in the year 2003.
	 2.	 This award is given to individuals, projects 

and institutions who are making extra efforts 
to make India a better nation.

	 3.	 It is the highest civilian honour of the country 
bestowed by an independent organization.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1, 2 and 3	 (b)	 2 only
	 (c)	 1 and 3 only	 (d)	 2 and 3 only
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	 97.	 tutkrh; LokLF; ,oa iks"k.k iksVZy&LokLF; ds lanHkZ esa 

fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 ;g igyk ,slk bZ&iksVZy gS] tks ,d gh IysViQkWeZ 

ij Hkkjr dh tutkrh; vkcknh ds LokLF; ,oa 

iks"k.k laca/h tkudkjh miyCèk djkrk gSA

	 2.	 ;g bZ&iksVZy fo'ks"kKrk ,oa vuqHkoksa ds vknku&iznku 

dh lqfo/k ds fy;s Hkkjr esa fofHkUu fgLlksa ls 

,d=k dh xbZ uokpkjh izfØ;kvksa] 'kks/ fjiksVks±] 

vè;;uksa] Js"B izfØ;kvksa dks lk>k djus ds fy;s 

izfrc¼ gSA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	dsoy 2

	 (c)	 1 vkSj 2 nksuksa	 (d)	 u rks 1] u gh 2

	 98.	 fuEufyf[kr esa ls fdl jkT; esa dsanzh; [kk| izlaLdj.k 

m|ksx ea=kh us ohfM;ks dkWUÚsaflax ds ekè;e ls ”kksje esxk 

iwQM ikdZ dk mn~?kkVu fd;k gS\

	 (a)	 flfDde	 (b)	v#.kkpy izns'k

	 (c)	 fe”kksje	 (d)	 es?kky;

	 99.	 fuEufyf[kr dFkuksa ij fopkj dhft;s%

	 1.	 fnlacj 2022 rd Hkkjrh; jsyos vius lHkh fMCcksa 

esa ^jsfM;ks ÚhDosalh igpku VSx* yxkus dh ;kstuk 

cuk jgh gSA

	 2.	 mÙkjk[kaM ds mÙkjdk'kh ou izHkkx esa Hkkjr dk 

igyk fge rsanqvk laj{k.k dsanz [kksyk tk,xkA

	 3.	 gky gh esa iz/kuea=kh ujsanz eksnh }kjk psUubZ vkSj 

iksVZ Cys;j dks tksM+us okyh ^lcejhu vkWfIVdy 

iQkbcj dscy* dk mn~?kkVu fd;k x;kA

	 	mi;qZDr dFkuksa esa ls dkSu&lk@ls lgh gS@gSa\

	 (a)	 dsoy 1	 (b)	1] 2 vkSj 3

	 (c)	 dsoy 2 vkSj 3	 (d)	 dsoy 1 vkSj 3

	100.	 ^us'kuy fe'ku iQkWj eSuqfLØIV~l* ds lanHkZ esa fuEufyf[kr 
dFkuksa ij fopkj dhft;s%

	 1.	 bl fe'ku dks Hkkjr ljdkj ds i;ZVu ,oa laLÑfr 
ea=kky; ds rgr 'kq: fd;k x;kA

	 2.	 fe'ku dks iQjojh 2003 esa ikaMqfyfi;ksa esa lajf{kr 
Kku ds nLrkos”khdj.k] laj{k.k ,oa izpkj&izlkj 
djus gsrq 'kq: fd;k x;k FkkA

	 3.	 bl fe'ku dk mn~ns'; nqyZHk ,oa vizdkf'kr 
ikaMqfyfi;ksa dks izdkf'kr djuk gSA

	 	mi;qZDr dFkuksa esa ls dkSu&ls lgh gSa\

	 (a)	 dsoy 1 vkSj 3	 (b)	dsoy 2 vkSj 3

	 (c)	 1] 2 vkSj 3	 (d)	 dsoy 1 vkSj 2

	 97.	 Consider the following statements in the context of  
‘Swasthya” , the 'Tribal Health and Nutrition Portal':

	 1.	 It is the first such e-portal which provides 
information related to health and nutrition of 
tribal population of India on a single platform.

	 2.	 This e-portal is committed to  share innovative 
processes, research reports, studies, best 
practices collected from different parts of India 
to facilitate sharing of expertise and 
experiences.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only	 (b)	 2 only
	 (c)	 Both 1 and 2	 (d)	 Neither 1 nor 2
	 98.	 In which of the following states, the Union Food 

Processing Industries Minister has inaugurated the 
‘Zoram Mega Food Park’ through video conferencing?

	 (a)	 Sikkim
	 (b)	 Arunachal Pradesh
	 (c)	 Mizoram
	 (d)	 Meghalaya
	 99.	 Consider the following statements:
	 1.	 The Indian Railway is planning to place radio 

frequency identification tags in all its coaches 
by December 2022.

	 2.	 India's first Snow Leopard Conservation Centre 
will be opened in Uttarkashi forest division , 
Uttarakhand.

	 3.	 Recently 'Submarine Optical Fibre Cable' 
connecting Chennai and Port Blair was 
inaugurated by Prime Minister Narendra Modi.

		  Which of the statement(s) given above is/are correct?
	 (a)	 1 only
	 (b)	 1, 2 and 3
	 (c)	 2 and 3 only
	 (d)	 1 and 3 only
	100.	 Consider the following statements in the context of  

'National Mission for Manuscripts':
	 1.	 This mission was launched under the Ministry 

of Tourism and Culture, Government of India.
	 2.	 The mission was launched in February 2003 

to document, preserve and disseminate 
knowledge preserved in manuscripts.

	 3.	 The aim of this mission is to publish rare and 
unpublished manuscripts.

		  Which of the statements given above  are correct?
	 (a)	 1 and 3 only	 (b)	 2 and 3 only
	 (c)	 1, 2 and 3	 (d)	 1 and 2 only


